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4.

Sol.

Sol.

Sol.

Frafafaa weat w faem wifse-
A, FE TEd T F fFR W fem 2

B. T9 el § 72 srafted €, GaQ oS-l

qTET 9 Bl @RI
C. =58 four & fou 9 == frareht w21

D. 30 3 % fFR TR #era A fem

i
I Fo fwa et 9 deifta 27
[1] SEEHS g [2] TSEEs 3w
[3] HdEHNR [4] YTETR
[5] gafa o

[1]

TEHHT, e 39 S 1 i qeron safeE gr

FHTE T (1685-91 3)
T TR A off Fed T

Frafafaa = gafaa wifag-
e e 9
A I8 (i) ;T
B. AR (i) Haor
C. d&mR (i) ©®
D. §aE HHR (iv) wifern
A B C D A B C D

[1] () (i) (i) (iv) [2] (ii)
[BlGv) (@) (i) (i) [4] (iv)
[5] eTafa g

[4]

T e W

o YTHU HE - ST

o HH - Al

<

USDAmwﬁaﬁﬁzﬁaﬁmﬁa%aﬁqﬂ

AW

[1] wRem, Thdd, Tehidie, sTaemie, gerdie
[2] ©dtmie, uietaia, seidida, sAawEd,

ST A

[3] =M@, Ieidid, ehEid, TRerard,

e

[4] afaia, TFa=Eia, TiEigia, Tagd,

ST EA

[5] Srfafd g
[1]

Consider the following statements-

A.

B.

C.

D.

It is situated on the banks of Gomti river.
There are 7 islands situated in this lake,
the biggest one is Baba Ka Bhagda and the
smaller one is Choti Pyari.

Two canals have been extracted from it for
irrigation.

Narmadeshwar Mahadev Temple is
situated on the banks of this lake.

Above statements are related to which lake?

[1
[3
5

n

| Jaisamand Lake [2] Rajsamand Lake
] Fatehsagar [4] Rangsagar
] Question not attempted

]

Jai Samand Lake:- This lake was built by
Maharana Jai Singh. (1685-91 AD)

It

is also called Dhebar lake.

Match the following-

90>

[1

District Important Grass

Churu (i) Bur

Jaisalmer (ii) Sevan

Bikaner (iii) Khas

Sawai Madhopur  (iv) Mochia

A B C D A B C D
1@ () @) @v) [2] (@) @0 (v) (i)

[B]Gv) (1) (i) (i) [4](@v) (@) (1) (i)
[5] Question not attempted
- [4]

Other grass

Dhaman Grass - Jaisalmer

Bamboo - Banswara

Map the soil as classified by the USDA.

[1] Aridosol, Antisol, Alfisol, Inceptisol,

Vertisol

[2] Antisol, Aridosol, Vertisol, Inceptisol,

Alfisol

[3] Inceptisol, Vertisol, Alfisol, Aridosol,

Antisol

[4] Vertisol, Inceptisol, Aridosol, Antisol,

Alfisol

[5] Question not attempted

Sol. [1]




Sol.

Sol.

Sol.

10.

Sol.

11.

Sol.

frafafaa § @ watfaes oo/ e & fma
e o srar srar 27

[1] steR [2] SETX
[3] sTE™ [4] SR
[5] @Tafa T

[3]
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A &ha (SR TR - EH

et foree afeer fra faer ¥ wafim &
[1] HeTR [2] eFrR

[3] R [4] =t

[5] STARd e

[1]

2011 S STATUTT & 3TER T & T fen
¥ 3rgiea S st SIS T Wia9ra STeht
/A TG W A 8?

[1] &R & HreR

[2]

1. MR- 0.2% 2. - 0.4%

WY =ra, Feht ard, Freet = S st
o Hatia £7

[1] e [2] R
[3] Tfe=n [4] wefeEn
[5] STIARd we

[3]

ISt =, Fent =, et = e sEenfa #it
Yo oHeeel 9 Getud 2

Frafafaa ¥ @ wFEr e |EE SaeT a7
=& 87

[1] 390 (3379)

2] T TerEt 9 Ufgen &7 (Hi)

[4]

7.

Sol.

Sol.

Sol.

10.

Sol.

11.

Sol.

In which of the following districts of
Rajasthan is most millet (Bajra) sown?

[1] Alwar

[3] Barmer

[2] Jaipur

[4] Sriganganagar
[5] Question not attempted

[3]

Major production-Alwar, Barmer, Jaipur
Maximum area (sown) - Barmer

The Kalitir Lift project is related to which
district?

[1] Dholpur
[3] Bharatpur

[2] Alwar

[4] Karauli

[5] Question not attempted

[1]

According to the 2011 census, which districts
of Rajasthan have the minimum percentage
of Scheduled Tribe population in their total
population?

[1] Sikar and Dholpur

[2] Bikaner and Nagaur

[3] Jhunjhunu and Churu

[4] Ganganagar and Hanumangarh

[5] Question not attempted

[2]

1. Nagaur - 0.2% 2. Bikaner - 0.4%

Moti Nyat, Nenki Nyat, Nichli Nyat belong
to which tribe?

[1] Bhil [2] Kanjar
[3] Garasia [4] Sahariya
[5] Question not attempted

[3]
Moti Nyat, Nenki Nyat, Nichli Nyat are related
to Panchayat system of Garasia tribe.

Which of the following places is not a
uranium production area?

[1] Umara (Udaipur)

[2] Khandela hill and Rohilla Region (Sikar)
3]
[4]
[5] Question not attempted

Ramgarh (Baran)
Bhadravan (Pali)

[4]

Bhadravan (Pali) is Thorium production area.
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Sol.

13.

Sol.

12. Frfafaa ¥ @ HFET 97 U SE@enT §
feorm & -
[1] =nf&an el Hier ek
[2] W1 HieR ek
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14.

Sol.

15.

Sol.

A 2 faem # fou = o frada e @
forert i geem RCDF 21
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C. e S 4t vR A feem @)
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[1] A, B,C [2] B,D
3] CD [4] Swf= meft
[5] STfaRd g

[3]
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[2] SwRfeaHE Hiehel a1

[3] SwERfecaHE & AFYA a7
[4] IwRfesEE wea a1

[5] sTafa T

[3]

Sol.

Sol.

14.

Sol.

15.

Sol.

. Which of the following solar park is not

located in Jaisalmer?

[1] Nadia Kala Solar Park

[2] Pokaran Solar Park

[3] Fatehgarh Solar Park

[4] Nokh Solar Park

[5] Question not attempted

[1]

Nadia Kala Solar Park is located in Jodhpur.

1
]
1
]

. Which of the following pair is not correctly

matched-

[1] Camel Festival - Jaisalmer
[2] Braj Festival - Bharatpur
[3] Rajasthan Kabir Yatra - Bikaner
[4] Mand Utsav - Jodhpur
[5] Question not attempted

[1]
Camel Festival - Bikaner

Consider the following statements related to
Dairy Industry-

A. There is a three-tier structure in the state for
dairy development, whose apex body is RCDF.

B. WeRMUL Dairy is in Jodhpur.
C. Gangmul Dairy is located in Sri Ganganagar.

D. Rajasthan's first dairy was established in

Udaipur.
Which statement are incorrect-
[1] A, B, C [2] B,D
[3] C,D [4] All of the above
[5] Question not attempted
3]
Gangmul Dairy - Hanumangarh.
The first dairy of Rajasthan is Padma (Ajmer).

Sal, teak, rosewood, mango and sandalwood
are the main vegetation of which type of forest.

[1] Tropical Evergreen Forest
[2] Tropical Dhokra Forest

[3
4
[5] Question not attempted
[3]

Tropical Dry Monsoon Forest

Tropical Thorn Forest

]
1
1
]
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Sol.

18.

Sol.
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weelt 5 et 1855 ® fow & wenfia i 7 off afR
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16.

Sol.

17.

Sol.

18.

Sol.

Match the following-
Pass

A. Pangsang

B. Baralacha

Connects
Uttrakhand to Nepal
Arunachal Pradesh
to Myanmar
Srinagar to Leh
Lahaul spiti to leh

(1)
(i)
C. Lipulekh (iii)
D. Banihal (iv)
Select the correct code-
A B C D A B C D
(11 @) (i) () @(v) [2] (i)
B1Gv) () G) Gii) 4] (iv)
[5] Question not attempted
[2]
Consider the following statements regarding
various crops-

A. Wheat is a Rabi crop which requires
temperate climate with temperature range
15°C to 20°C.

B. Sugarcane requires laterite soil and its
maturing period is 5 to 6 months evenly
distributed.

C. Around 200 cm rainfall is essential for Tea
cultivation throughout year.

Select the correct statements-

[1] Aand B [2] Band C

[3] Aand C [4] All of the above
[5] Question not attempted

B3]

Sugarcane requires Black and Deep Rich
Loamy soil and its maturity period is 11 to 12
months

Consider the following statements-

A. Firstjute mill was established in Serampur
in 1855 in Hugli Industrial Region.

B. The North-South and East-West corridor
meets at Jhansi (UP).

C. The Golden quadrilateral is spread over 13
Indian states connecting Srinagar to
Kanyakumari.

Select the correct statements-

[1] Aand B [2] All of the above
[3] Aand C [4] Band C

[5] Question not attempted

[4]

First Jute mill was established in Rishra in 1855
and first paper mill was established at
Serampur. Both are part of Hugli Industrial
Region of West Bengal.
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19.

Sol.

20.

Sol.

21.

Sol.

ST T T =T RN

EEl ST
A. =9 - Tedim <4
B. TRmEd S EEZERN
C. =1 - 3HTHIH TSR
D. amt - HqA TR
TE T W T -
[1] ®aa C [2] ®a@ D
[3] et A [4] =18 &F
[5] Tgafa o
[4]
&y T wsft T wEé gafea 2

o9 2021-22 H S A Tt Saure Refa & dasd
¥ frefafaa afeEe Saees o0l &l |l il
Eauik: iy

[1] weA9RY, SEE, TN, shfeem

[2] BXTE, ORI, TEAYRY, SHfeem

[3] stifeen, Siag, TeAURY, o/

[4] enfeem, oG, SETE, HEAURS

[5] srgafa

[4]

M HARE & STER 99 2021-22 & fou fafv=
SFIEe ICAEh Tl o1 hel SCARA 36 FhR i
*  sfifewm = 73.13%

* TSI = 8.97%

* ENEE = 8.04%

* UG = 4.30%

* HERTS = 2.85%

* [EYRY= 2.71%

wfgams it e srget o frafatea o @ fea
USTTIRTRET U UeATira gRT ot S el 919

[1] A, B, C,E &R F [2] A, B, C, D 3R E
[B]A, C,D 3R F  [4] SR @it

[5] stgaftd

[1]

19.

Sol.

20.

Sol.

21.

Sol.

Select the mismatched Pair-

River Origin
A. Beas - Rohtang Pass
B. Godavri - Trimbakeshwar
C. Narmada - Amarkantak Plateau
D. Tapi - Betul Plateau
Select the correct code-
[1] Conly [2] D only
[3] A only [4] None
[5] Question not attempted
[4]

All of the given pairs are correctly matched.

Which is the correct sequence of following

Bauxite producing states in terms of high to

low production status in year 2021-22.

[1] Madhya Pradesh, Chhattisgarh, Gujarat,
Odisha

[2] Chhattisgarh, Gujarat, Madhya Pradesh,
Odisha

[3] Odisha, Chhattisgarh, Madhya Pradesh,
Gujarat

[4] Odisha, Gujarat, Chhattisgarh, Madhya
Pradesh

[5] Question not attempted

[4]

According to Ministry of Mines, the total

output of various Bauxite producing states for

the year 2021-22 are as follows:-

*  Odisha =73.13%

*  Gujarat = 8.97%

*  Jharkhand = 8.04%

*  Chhattisgarh = 4.30%

*  Maharastra = 2.85%

* Madhya Pradesh= 2.71%

The format of oath or affirmation to be taken

by which of the following office bearers and

candidates has been given in the Third

Schedule of the Constitution?

Supreme Court Judge

Candidates for Parliament Elections

Union Minister

Lokpal

Candidates for State Legislature Elections

Members of Parliament

Select the correct answer using the code given

below-

[1] A, B,C, Eand F [2] A,B,C,Dand E

[3] A,C,Dand F [4] All of the above

[5] Question not attempted

[1]

mHONT >
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22. R wiET uiita & wed ° Frafafaa swaei uv 22, With reference to the Public Accounts
forem wife- Committee, consider the following statements-
A, 9RE TR AREE 1919 ® st a9 1921 A. This committee was established for the first
. time in the year 1921 wunder the
¥ weell AR T wEfT w1 e ge Government of India Act 1919.
B. wfafd & steas i fgfe o steas gm B. The chairman of this committee is appointed
g e § @ & S 2 by the Speaker of the Lok Sabha from
C. Tu afafa &1 steae faueht <@ @ T Ht W amongst the members of the Lok Sabha.
¥ 1969 ¥ YR B C. "lgle tradition offchoos}ilng the chairman of
ST o this committee from the opposition par
¥ q T o - started from the year 1969.pp party
[1] % A S B [2] %o B s C Choose the correct statement from the above-
[3] Fa A @R C [4] A, B iR C [1] A and B only [2] B and C only
[5] sTqaRa ge [3] A and C only [4] A,Band C
Sol. [1] [5] Question not attempted
39 winfq &1 s1eae fomeft < 9 99 * Wow 9 Sol. [1]
1967 ¥ WRH Tl The tradition of choosing the chairman of this
23. T=fafEa =r gﬁ-l%m Hifaa- committee from the opposition party started
gei-1 from the year 1967.
A. TEERE §R (2017) 23. Ma;cil;tt};e following-
B. i (2018) A. Puttaswamy Case (2017)
C. ST THES e & (2011) B. Navtej Singh Jauhar Case (2018)
D. ¥ HWedl o= (1992) C. Aruna Ramchandra Shanbagh Case (2011)
T-11 D. Indra Sawhney Case (1992)
(i) T =1 StfEERR List - I
(ii) ¥ 377 1 799 &I SR GHATNTRAT I (i) Right to Privacy
Y TEE FE (ii) Invalidating of section 377 and Legalizing
... Homosexuality
(%11)3391 9 . (iif) Euthanasia
(iv) SR 1 Bkl (iv) Constitutionality of reservation
A B C D A B C D A B C D A B C D
(11 6 () L) (Rl (v) 6@ 16 @ G ) 26 @) 0 @
Y aosh S AR B] i) i) () (v) W] G) Gi) G) @)
[3] "NB [5] Question not attempted
Sol. [1] Sol. [1]
24. W & e & daof o fretfefad weel @ 24. With reference to Presidential Election,
ﬁwaﬂﬁ‘fﬂ: consider the following statements-
A. Ul fafesd Aved & SMYR W URUd & A. The election of President can not be
e ﬂ:ﬁ?ﬁ T S S g challanged on the basis of incomplete
B. weufa gaa ® qwa frafww sfywrd electoral college. _ .
e N Y B. l"l;he 'Chle‘f Electqral .Offlcer in the
. . . residential election is the Secretary
C. Tgafd g & Feft Tl % forumeeht 1w General of the Lok Sabha/Rajya Sabha.
T A B C. Legislators of all the states have the same
B'I:l'éiaa U A WA HUA T AT hifAT- vote value in the presidential election.
[1] ®ae A [2] ®oa B 3R C Select the incorrect statements from the above-
[3] 1 C [4] e A iR C E} A Of‘lly Lﬁ ianccll (éonlly
q only and C only
5] w1 [5] Question not attempted
Sol. [3] Sol. [3]
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25. WA & faues =t fuafq o f=fafea saat 25.

Sol.

26.

Sol.

27.

Sol.

W faem wifse-

A. T H QA 6 Ra den deed o
dfed fagae sifarda: a@ma & s

B. @A H RIUMUd & WG a1 Tso9e o
dfed fagaes gara 7= =

C. I8 Td aehad § uiia fadaes g aeeafa
3 gAfd=R 2 ofer o @, 9 wura w2 e

ST U ¥ WA HIT T
[1] %ot A 3R B [2] %o B 3R C
[3]%eet A IR C  [4] A, B @R C
[5] eTgaf@ wd
[3]
frotftas @ g wifT-
geit-1
A. IO B. @& gaftR
C. TR D. ufauy
geit-11

(i) SAFR &= ¥ Tl T FE HE T

(ii) I=IR AT T HHA IO IH HN A
?

(iii) STeNTR Tk F SH TH W

(iv) FeSiter TRt a1 Geen g MenRka
T A W

A B C D A B C D
[1] (ii) (i) () (iv) [2](@v) (iD) @) (@)
[3] (i) (iii) (iv) () [4] () (i) (i) (iv)
[5] eTgafa WA
[3]

Prafafes s T faem wifkm-

A. 3TT=8% 358 % Tqed fRdl ft omuR W TR
SMUTTRIG hi SHEUT & |9 & Tges] 19 &
Ed W ol AR T & et € 9 R

B. T 3Umehel o {0 Tegufd e SR
T A AR & AN B 1 Fefed Y
Thd 2l

C. UM Suehtel & SNF Gt got ARl o
et fopen =T Heman 21

D. TR fosie % SR T STAhIe i SSaro
Bt ® i erges] 19 Feftaa @ =

T HAT TABT-

[1] A, B [2] B, D

[3] A, B,D [4] ST A+t
[5] sgafa e

[2]

Sol.

26.

Sol.

27.

Sol.

In the state of dissolution of Lok Sabha,

consider the following statements-

A. A bill introduced and passed in the Rajya
Sabha and pending in the Lok Sabha will
lapse.

B. A bill introduced and passed in the Lok
Sabha and pending in the Rajya Sabha will
not lapse.

C. A bill passed by the Rajya Sabha and Lok
Sabha, which has been returned by the
President for reconsideration, will not lapse.

Choose the correct statement from the above-

[1] A and B only [2] B and C only

[3] A and C only [4] A,Band C

[5] Question not attempted

[3]

Match the following-
List-1

A. Certiorari

C. Mandamus
List-II

(i) On functioning outside the jurisdiction

(if) The higher court calls for transfer of
pending cases

(iii) On an unlawful detention

(iv) For not fulfilling the prescribed duties by
the public officials or institution

B. Habeas Corpus
D. Prohibition

A B C D A B C D
[1] (i) (iii) (i) (v) [2]Gv) (i) (i) (1)
[3] (i) (iif) (iv) (i) [4] () (i) (iii) (iv)
[5] Question not attempted
3]

Consider the following statements-

A. Under Article 358 with the declaration of
National Emergency on any ground, the
Fundamental Rights under Article 19
automatically get suspended.

B. During national emergency, the President
can suspend the operation of other
Fundamental Rights by issuing a
notification.

C. All Fundamental Rights can be suspended
during National Emergency.

D. If there is a proclamation of national
emergency due to armed rebellion, then
Article 19 will not be suspended.

State the correct statement-

[1] A, B [2] B,D

[3] A, B,D [4] All of the above
[5] Question not attempted

[2]
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28. 174 ATREANT & Had H fAfaiaa § ¥ /@ 28.

Sol.

29.

Sol.

30.

Sol.

HAT T TAT FL-

[1] Sreras # sTygfea ifa & fou emfya dief
F T 84 |

[2] @REs H STgfad SeMd & faw Rfaa
el 1 " 49 7

[3] TSRUH © dmas e | oeyfaa Sifa &
g 4 € emferm 21

[4] TSoH § deRae Hel ¥ sgfEa Seea &
fog 3w emfem 2

[5] At wed

[2]

AR § A A SN & o TRfara wel wt

e 47 B

ek |t & HWay ¥ FreAfataa ¥ ¥ s

HIAT A TIT HAC-

[1] =faek Heften oI 1 Seoi@ 3=e% 13 (3) ¥ R

[2] =k ween 1 wifem ®5 IR TF <A SR
W AN B R

[3] foremdt stffrem =1 swrefufernta smeel =t Hifes

Ayl & SooEd W A gHem &t ST
Hehal B

[4] Hfaum &t Feteaa & f9gr & ™ WH &
forw =nfaes ween sevae 2

[5] sTgafa g

[1]

‘faes e’ v w1 Wfowm o wel off s

& foman T 2

HIT A: 1035 dfaum Femes g 2019 & sufdiew

Y W HISAR T hl 10% AR&0r &= w=m

HUT R: 59 TR0 1 YR =% 46 2

[1] A 3R RE&E 2 3 R, A ! H&l e &Ll 2|

[2] A @R RSH WEl & W R, A %1 W&l =
T e 2l

[3] A ®El & W R T R

[4] A Told @ TR R @&l 2l

[5] sTgaf e

[1]

TR 46- STTea e, STggrea St 3K
T HESIL o & Yferes AR anfele feal = s@mEn
3

Sol.

29.

Sol.

30.

Sol.

Select the incorrect statement from the
following regarding 17" Loksabha-

[1] The number of seats reserved for Scheduled
Castes in the Lok Sabha is 84.

[2] The number of seats reserved for Scheduled
Tribes in the Lok Sabha is 49.

[3] Among Lok Sabha seats from Rajasthan, 4
seats are reserved for Scheduled Castes.

[4] Among Lok Sabha seats from Rajasthan, 3
seats are reserved for Scheduled Tribes.

[5] Question not attempted
[2]
The number of seats reserved for Scheduled

Tribes in the Lok Sabha is 47.

Select the incorrect Statement from the
following regarding judicial review-

[1] The word judicial review is mentioned in
Article 13 (3).

[2] The power of judicial review applies to
both the central and state governments.

[3] Legislative Acts or Executive orders can be
subject to Judicial review of violation of
fundamental rights.

[4] Judicial review is necessary to uphold the
principle of supremacy of the Constitution.

[5] Question not attempted

[1]

The phrase 'Judicial review' has no where been
used in the constitution

Statement A: 10 percent reservation was given
to Economically Weaker Sections in 2019 by the
103rd Constitutional Amendment.

Reason R: The basis of this reservation is Article 46.

[1] Both A and R are correct and R is the correct
explanation of A.

[2] Both A and R are correct but R is not the
correct explanation of A.

[3] A is correct but R is incorrect.

[4]
[5]
[1]

Article 46 -Promotion of educational and

A is incorrect but R is correct.

Question not attempted

economic interests of Scheduled Castes,
Scheduled Tribes and other weaker sections .
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31. WA & fHated @ & ded o f=fafaa 31.

Sol.

32.

Sol.

33.

Sol.

HYA W e Fifee-

A. faf=m oge &1 FRE 6 99 L@l 65 a4
1 og S o Ted @, B 2l

B. H&A fater et w1 Tegafd g Taed =
ST H SER W B S Fhal 2

C. & frafed o *1 9% ¥ Faad & Sud
= T W W R oy e €

A HIAl T I T~

[1] o A [2] #aa B

[3] ®a@ C [4] 3wda weft

[5] sTFaf

[1]

Frfataa s w faem St

A. GO9S YR & S=adH = i AfeRTRar &
faeaRa &1 & dehdt TR STt SAferemiar
T8 &S SUE 7 TeH # 2

B. S=udq =@ 3R S=d <EeE & S
AR whiftier Horg g =Enien g e Ry
I § SR el w1 gt = 9Rd 6
Hfea fafy @ siRa e 2

T HAT AT AT BT
[1] o A [2] %o« B
[3] A 3R B=H [4] @ AR 7B
[5] eTgaf@ wd

[4]

* IodqH RO SR ST AEeEl % At
IR s Fag ged = gu e fag
Il

*  Iogaq AR 1 YRIEAS - 9RA Hi giad
ffy W i e € et Seu =@ w5
TRTEH 9T Hafyd T i diea MY W) aia
Bl 2

Trafafaa = &1 AT O & 9HT &

MR W Wl A § FAT3U-

A. TEIES T=_W B. TUEg

C. e D. T&n

[1] A-D-B-C [2] D-A-C-B
[3] D-A-B-C [4] A-D-C-B
[5] ergafa e

[1]

Sol.

32.

Sol.

33.

With reference to the Election Commission

of India, consider the following statements-

A. The term of the Election Commissioner is
6 years or the age upto of 65 years
whichever is earlier.

B. The Chief Election Commissioner can be
removed by the President on the basis of
inquiry of the Supreme Court.

C. Appointment to other posts is debarred for
the Chief Election Commissioner after
retirement from the post.

Select the correct statements from the

following-
[1] A only [2] B only
[3] C only [4] All of the above

[5] Question not attempted

1]

Consider the following statements -

A. Parliament cannot extend the jurisdiction
of the Supreme Court of India as its
jurisdiction is provided by the Constitution
itself.

B. The officers and employees of the Supreme
Court and the High Courts are appointed
by the concerned Chief Justice and the
administrative expenditure of the Courts
is charged on the Consolidated Fund of
India.

Select the correct statements -

[1] A only [2] B only

[3] Both A and B [4] Neither A Nor B

[5] Question not attempted

[4]

*  The officers and employees of the Supreme

Court and the High Courts are appointed

by the concerned Chief Justice

The administrative expenditure of the

Supreme Court is charged on the

Consolidated Fund of India while the

administrative expenditure of the High

Courts is charged on the Consolidated

Fund of the respective State.

Arrange the following states in the correct

order on the basis of chronology of their

establishment-

A. Arunachal Pradesh B. Chhattisgarh

C. Uttarakhand D. Goa

[1] A-D-B-C [2] D-A-C-B
[3] D-A-B-C [4] A-D-C-B
[5] Question not attempted

[




34.

Sol.

35.

Sol.

1987 ® W™ €9 ¥ 99 & TF fHeRg (23 @)

STEUTE YW (24 91 I TMen (25 9N A H

3|

2000 ¥ SUETG (26 a), ITTEE (27 ) I ARG

(28 =) T &I

aa & s 1@ e whaw (CAG) &

el W T FHUT T~

[1] CAG W&l =53 =1 siifacd oi@r wden it
T 2l

[2] @iifae ei@n e CAG W sieshi 21

[3] 9ra &1 wfea fafy 9 deag 9t == geeh
wEet 1 e I 2

[4] @' Tezufd =1 Toae & fasd W Rt o=
IRt o et i ot et Tl w 2

[5] ergafa wed

[2]

T CAG 1 fedarefia & 21

g wfaas & our Frfafaa ® @

fo fawat w wigam d@omem & foow @0 @

HY Y TN & fqemegen o Ul v

3

A. Idl g ¥ Hag wE fawa

B. dfaum ¥ Weled &+ GO H v

C. 99 9 T faurmea & fau faftem|

D. B3 STY-SASIdd &l ol Teme|

[1] %o A9 B [2] %9 A,Ba C
[3] %o B,Ca D [4] e Ca D
[5] ergaf@ ¥

[1]

el ST | Hag his fawa’ e wiaye o
HIMET L HT GEE HI AR W FEA & g
MY T & faurdedl 9 SR Sgad & ey
¥ Al SEvIE 2

"'ug g T faurdea & fau fratea’’ den et
S-S & 1 wemeR’! gedt fawe W
e % oY Fae W68 & <Al TS gR HER
TEAT W TEE qIRA A B R

34.

Sol.

35.

Sol.

36. = Wi fomar & fa=i o veet Uwet fo 3¢

Y9I RIET Urew feRam
[1] S 7o Tedra

In 1987, three new states Mizoram (23rd),
Arunachal Pradesh (24th) and Goa (25th) came
into existence in the Indian Union.

In 2000, Chhattisgarh (26th), Uttarakhand (27th)
and Jharkhand (28th) became states.
Select the incorrect statement with respect

to the Comptroller and Auditor General of

India-

[1] CAG also conducts propriety audit of
government expenditure.

[2] The propriety audit is binding on the CAG.

[3] Examines all expenditure accounts
relating to the Consolidated Fund of India.

[4] He also audits the accounts of any other
authority when requested by President or
Governor.

[5] Question not attempted
[2]

It is a discretionary work of the CAG.
According to the Indian Constitution, on
which of the following subjects, the consent
of the at least half of the states legislatures
are mnecessary for amendment of the
constitution-

A. Any subjectrelated to the Seventh Schedule.
B. Power of Parliament to amend the

Constitution.

C. Elections to Parliament and State
Legislatures.

D. Schedule VI- Administration of Tribal
Areas.

[1] A and B only [2] A, Band Conly
[3] B,Cand Donly [4] CandD only
[5] Question not attempted

[1]

For amendments on “any matter relating to the
Seventh Schedule” and “Power of Parliament to
amend the Constitution”, approval by a simple
majority from the half of state legislatures is
necessary.

For amendments on the subjects “Election to
Parliament and State Legislature” and “Sixth
Schedule- Administration of Tribal Areas”,
resolutions have to be passed by both the Houses

of Parliament by simple majority only.

Which painter was the first to have a solo
painting exhibition?

[1] Saubhagya Mal Gehlot
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Sol.

37.

Sol.

38.

Sol.

39.

Sol.

40.

[4]

TSRAT WTHT it T TS Gedeh il 272
[1] 9ITeR agaet 9

[2] shaerEHml

[3] ferfafes wd ow sfrean

[4] ¥RAvaR SgEel =R

[5] sTaRa ged

[4]

TSR T T Ha™ U= fohae s gR &t
TRATeR gl *R € wafeh Iferss g w1 9RaveRr
Tgaet T (1184 %) w@d ¥ gaM areft Ha™
e TeRA T ®

FHACIHTE AHF T&ish g gR = 8ot vraest |
forelt oft forem 18 wreti =1 ovfe €, frew w& wmm
oFf wnfiret 21

Sitst e7emed e - ST g% Linguistic Survey
of India ¥ (1912) TS Ao 1 FviF Rl

Frafafaa o @ wir@r anyuor fe gre & o
& ugr S §7

[1] FFH [2] =it
[3] =TT [4] T
[5] eTafa T

[*]

@ - 9% g @ =i 9 e mEe w5 A
TR 1 nuel ® U $W gERR T o
B Bl g forEl #1 Ak e R

Siel- Afeastl & el I S|

FqSTEEr- Afeelstl & M 1 I

frfafaa & & ®8 tw gafaa 7@ 22
Hfew It

[1] sifgar o1 92 |@f R - HEME

[2] frg 1 WETeR " - TOR-UER
[3] TfFseR HAfRT - TE-TER

[4] 3 & TSl & A - s

[5] sTaRa ued

[4]

Y & T b HRT AE-TR Yol & AR T

Ha IEEATA & TN U hET wIT WL R 87

[1] STR1 ST STEHRER | 1544 5. # gaT ol

[2] 1585 H =i g Hehd H eI HHIE SThaX
T 92 #

Sol.

37.

Sol.

38.

Sol.

39.

Sol.

40.

[2] Kundanlal Mistree

[3] Govardhan Lal 'Baba'
[4] Ramgopal Vijayvargiya
[5] Question not attempted

[4]

Which is the oldest book in Rajasthani

language?

[1] Bharateshwar Bahubali Raas

[2] Kuvalayamala

[3] Linguistic Survey of India

[4] Bharateshwar Bahubali Ghor

[5] Question not attempted

[4]

The oldest book in Rajasthani language is

Vajrasen Suri's Bharateshwar Bahubali Ghor

while Shalibhadra Suri's Bharateshwar

Bahubali Raas (1184) is the oldest Rajasthani

book which mentions the year.

The book named Kuvalayamala was written

by Udyotan Suri in the 8th century which

describes 18 languages, in which Maru

language is also included.

George Abraham Grierson described the

Rajasthani language in his book Linguistic

Survey of India (1912).

Which of the following ornaments is not

worn by women in the ear?

[1] Jhumka [2] Bajanti

[3] Bhadrayan [4] Laung

[5] Question not attempted

[*1

Laung- This is a spice clove-shaped ornament

made of gold or silver on top of which a

knobbed gem is attached. This is the ornament

which is wore in nose by women.

Bajanti - The ornament of women's neck.

Bajatti- The ornament of women's Ear.

Which one of the following is not matched?
Temple Style

1] Sun Temple of Osian : Mahamaru

2] Someshvar Temple : Gurjara-Pratihara
of Kiradu

[3] Samiddheshwar Temple : Maru-Gurjar

[4] Abu's Temple of Chandravati : Bhumij

[5] Question not attempted

[4]

The temple of Chandravati in Abu is build in

Maru-Gurjara style.

Which statement about Saint Dadudayal is

not correct?

[1] He was born in Ahmedabad in 1544 AD.

[2] In 1585, he met Mughal Emperor Akbar at
Fatehpur Sikri.

[3] His dead body was kept in Narayana.

[4] Daduji's teachings are collected in the texts

[
[

Page 13



Sol.

41.

Sol.

[3] 3R Wiftfa YRR <@on ¥ @ T

[4] ‘=TTgSt T Sl qem ‘I W J@T’ AHE e H
T F IR GufEd 2l

[5] srgafa w7

[3]

T[ A H TRIMTER 5Th1 Wit TR Sqom i

TEIE! i W H W T A0 § 1603 . § a1

B g T8 TR Y@ TS e g

frfeafaa sweml =t ufeu iR Toa weq/ ot

I TgeThIe-

A. G T et ot off fed g9 9ra
FI Yeae e i afeedt g gg 2l

B. R qdifcares el "ot A6 & fRAR feerd €
el ¥ g9 8000 oSl Hieh W BY B

C. M IehTel qUdiesh €oe W ad® a9 &
Y A fimee e w1 o e e

D. fofa SF9g 1 TS AR TH S B
AN I8 YSIEA hl JH Ic@fd el ol

He -

[1]AT B [2] A,Ca D
[3] W= |t [4]B,Ca D
[5] SFaRa 7T

[4]

o AN - T 5o o wiaeht 79 & AR fed
Th Afcenehrei w&dl off|
qUrdTfesrer WA e w1 Afeedl (IR H
raH )
Ed, W ¥ ©idg S 9l W

o TR - SR H WEH SEd TS % fER
feerq
YTATeh |t -
1. 929 & STHR I el
2. 8000 @TwEd [l I g T

o TEMT (AT ) - TR e & F8T T
1 v fooa @y @1 fmiv S 3 war
ol
Tl 99 % fawEdH 3 el divee @ w
frgfor waEn em
gkl § 99 i @ Sl & fau gfag e
TN B THE T W Tehrei faeehl H1
W g 2
JiTeR TS AHUA & T feeren 3 3w A
1 FHfoT Haw

o frfa SFUg @ - SR 9 feRieTE, TEHE-
mreAfasyT (fade)

Sol.

41.

named 'Daduji Ki Vani' and 'Dadu Ra
Duha'.

[5] Question not attempted

[3]

According to the instructions of Dadu Dayal,

his dead body was kept in the cave of the hill

of Bherana. He died in Narayana in 1603 AD.

This is their main center.

Read the following statements and identify

the incorrect statement/statements-

A. Sunari was a Vedic period settlement from
which we have got the oldest iron furnaces
of India.

B. Baror archaeological site is located on the
banks of river Sabi from where we have
received 8000 lazward beads.

C. Harshvardhan of Varik dynasty had got the
Bhimlat pillar constructed at Bayana which
is a Gupta archaeological site.

D. Madhyamika, the capital of Shivi Janapad,
was a Jain centre. This was the first
excavated site of Rajasthan.

Code:-

[1] A and B [2] A, Cand D

[3] All of the above [4] B, Cand D

[5] Question not attempted

Sol. [4]

* Sunari - There was a Vedic period
settlement situated on the banks of Kantli
river in Jhunjhunu district.

Documented artifact - Iron furnaces (oldest
in India)rice, horse drawn chariot

* Baror - situated on the banks of the ancient
Saraswati river in Sriganganagar
Documented artifact -

1. Button shaped seals
2. 8000 Lapis lazuli have been received.

* Bayana (Bharatpur) - Gupta period site.
The first victory pillar of Rajasthan was
built here by Samudragupta.
Vishnuvardhan of Varik dynasty had built
the Bhimlat pillar here.

Bayana was famous for the cultivation of
indigo during the medieval period.

A heap of Gupta coins has been found from
a place called Nagla Chail.

Chitralekha, the queen of Pratihara king
Laxmansen, built the Usha temple.

* Shivi Janapad region - Udaipur and
Chittorgarh, Capital - Madhyamika /
Nagri (Chittor)

Literary Evidences -
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42,

Sol.

43.

Sol.

44.

Sol.

eI Hid-

1. eTTEATt (HfUTAY)

2. HEITSH (dwter)

3. HEIYRA

4. et Afvera
WeATRT TH S B ol

Ig oA 1 JIH Sc@d T4a ol
IATERT - D.R. HUSRER

THIR wiEM | Hafud fFefaiad (or@es-gwes )

U | RIET IETE TH 27

[1] Fa== gR - TR TR
[2] TRTER - TR TS
[3] ==RIER - THR T3
[4] 3Tgd o™ - FERE
[5] eTgaf@ 7

[4]

A hoH - FEHR F¥A

Es =AM - SR

srRfera I Y S ( IHE-AAHEE )
[1] THfde - T 9 SR
[2] Qeaitrst o - TRl 9 ]
[3] T AR ~ S E H
[4] S=afdE - SIHA 9 U
[5] sgafa wed

[2]

THIRRT I=<d (Heen) & YArfa-Teel 9 33

S

TR TSR B - J9me | ‘e’

| | arad ar?

1] Tt 9ff 9 w foraml 1w o

2] Tt gf 9 W 9y =)0 & fau fRem @
TfEd 8 &1 AHR o

[3] 9-TSa TRTHA FaEd H SR A HHAK
1 IMHS B

[4] Tt f S99 IFER oo & o fRamt
T 1 oA IR T qf 9 H e § <
HT T off

[5] srgafa o

[4]
et gfh fSe W R w1 e o e
FHEad offl T g/ foham &l qeer fean S

42,

Sol.

43.

Sol.

44.

Sol.

1. Ashtadhyayi (Panini)

2. Mahabhashya (Patanjali)

3. Mahabharata

4. Badli inscription

Madhyamika was a Buddhist center.

This was the first excavated site of Rajasthan.
Excavator - D.R. Bhandarkar

Which of the following (author-book) is the
mismatched pair related to Hammir Chauhan?

[1] Nayanchandra Suri - Hammir Mahakavya

[2] Sarangdhar - Hammir Raso

[3] Chandrashekhar -Hammir Hatha

[4] Amrit Kalas - Hammirayan
1

5
[4]

Amrit Kalas - Hammir Bandhan

Question not attempted

Bhandau Vyas - Hammirayan

Choose the mismatched pair (ruler-
commander)

[1] Ratan Singh
[2] Prithviraj III
[3] Rao Maldev
[4] Uday Singh
[5] Question not attempted

[2]

Alha and Udal were the generals of
Paramardidev Chandel (Mahoba).

What was meant by 'Dakhla' in the land
revenue administration in medieval
Rajasthan?

- Gora and Badal
- Alha and Udal
- Jaita and Kumpa

- Jaimal and Patta

[1] Land owned by farmers

[2] Land on which farmers had the right to
enter for grazing.

[3] The involvement of an officer or employee
in the land revenue administration system.

[4] The Land for which Jagirdar gives pattas
to farmers and this land is entered into
state's Register.

[5] Question not attempted
[4]
- Land which was owned by the farmers was

called 'Bapoti'. The farmers were given
pattas by the state.
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45.

Sol.

46.

Sol.

47.

ol

- SFRER o o7 &= H ved <ar o U gfi @i
T & TR ¥ < foran e e 5 ‘<’
el Sl o A g w1 wierss fom STt
% WS en @ U gfF ‘e’ gfa o
gffera X ot St ofl SFiER -t 8
% RO @ T wE A

HrgeroT geTeRIUS Wl it ¥ feRw wEER w

% o H IRl STEIET wer?

[1] =7 sfean [2] T&0T TSEAH
[3] famd AREEIEK

[5] stgafa we

[1]

i, Rowa TAER 19 3 3§ e H gad
ST am SRS | i

ii. T80 TSI MR U9 A 39 ¥ Sl A
et R oM (319 19255, 1)

iii. RO 7 ‘qHR’ A9 T= geRife R
T @E’ & Hay e ¥ O ferud #?
[1] 9 oTRieM & T 9@ -l

[2] HeTE T S<HAH =AEE

[3] <& famEa # TS TE ]

[4] TR i@ TR g HeEIed Teh SHMER W
[5] eTgaf@ wd

[2]

TICE WE- HAlS &1 S=aad <l of fSgent
3T T HET T Gl ol

1880°S. ® WERIUN Howe T8 3 SHeh! TAY i off|

Frafafaa o = gafaa wifag-
TSI TehIeh{UT T
=Y

A. T8 TSEIH

(i) 18 21U, 1948 &
B. UgE TSR (i) 30, 1949 =.
C. 988 TSeuH (iii) 1578, 1949 3.
D. 995 I8 USRI (iv) 25 T, 1948 <.
(v) 187w, 1948 %.

45.

Sol.

46.

Sol.

47.

- Thejagirdar also used to give pattas in his
area. Such land was entered in the state
register which was called 'Dakhla'. If the
owner of the land died without an heir,
such land was included in the 'Khalsa'
land. Jagirdars also used to deposit 'rekh'
for being landowners.

In which newspaper's article did Gandhiji

call the Nimuchana massacre a double

Dyerism?

[1] Young India [2] Tarun Rajasthan

[3] Riyasat [4] Navjeevan

[5] Question not attempted

[1]

i. Riyasat news paper compared this
massacre with the Jallianwala Bagh
massacre.

ii. The Tarun Rajasthan newspaper had

published a picture of this incident. (31

July 1925 AD)

The farmers published a pamphlet called

'Pukar'.

'Ijlas Khas' is related to which of the

following?

1ii.

[1] A prominent leader of the Mev movement
[2] Highest Court of Mewar

[3] Revenue chief post in Tonk princely state
[4] A newspaper run by Syed Bhik Narang
[5] Question not attempted

[2]

Jjlas Khas- was the highest court of Mewar also
known as Maha Indraj Sabha.

It was established by Maharana Sajjan Singh
in 1880 AD.

Match the following pairs.
Rajasthan Integration Date
Phase/Name

A. Poorv Rajasthan (i) April, 18" 1948AD

(
B. United Rajasthan (ii) March 30, 1949AD
C. Greater Rajasthan (iii) May 15, 1949 AD
D. United Greater (iv) March 25,1948 AD
Rajasthan
(v) March 18,1948 AD
Code:
A B C D A B C D

[1]Gv) () () (D) [2] () (iv) (i) (iii)
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Sol.

48.

Sol.

49.

Sol.

50.

A B C D A B C D
1] (v) (@) (i) @) [2] @) (@v) (i) (id)
Bl (v) G) Gi) Gv) [4] () (v) (i) (ii)
[5] eTaRa a9
1]

18 A, 1948 . Wl TSN & ThHIH0 & FUH
=0T A T hi A i
Frafafaa o+t gafaa wifag?
AR/ e |e

T e

TSTYAHT 7 ARG 9
URATE eh IR
FETE Hel °H

TEATIHR

(i) Big T T

(ii) TSRAR AHEE & 3=

(iii) Fera=g T dgar

(iv) HERIOT S e

(v) ST T SIS 9 3T

onwp

e :
A B C D A B C D
[1]Gi)) (v) () () [2](Gv) (v) (i) (i)
[3]( ) (i) () (i) [4] (@) (i) @Gv) (@)
[5] &ATaRd 997
[1]

i. 29, 1877%. =l STAR H HEWUN o g
g 29 RO A1 R T B TS T
T ES GER H TEel T off|
ii. 1919%. a4l § -TSEAM |l §9 I T g3
Heages - 1. fas 48 ufes
2. A o TSt
3. %l fog 9nEs
4. T\ AEHO e
5.8 91 fepa
afofeR Tt 2022 - 23 & TR, Wahel T
W s iy o, few ge (2011 -12) W
ferert 2-

[1] 8.19% [2] 16.04%
[3] 7.19% [4] 11.36%
[5] TaRd we

[1]

anfofeR THiem 2022-23 % AR TeRy™ ¥ 9

Sol.

48.

Sol.

49.

Sol.

50.

[B1 (v) () @) (v) [4] ()

[5] Question not attempted

[1]

On March 18, 1948, the first phase of the
integration of Rajasthan, Matsya Sangh was
established.

Match the following pairs?
Social/political organization
A. Pratap Sabha
B. Rajputana Madhya Bharat Sabha
C. Marwar Lok Parishad
D. Vanvasi Seva Sangh
Founder
(i) Ranchod Das Gattani
(if) Rajkumar Mansingh and others
(iii) Balwant Singh Mehta
(iv) Maharana Sajjan Singh
(v) Jamna Lal Bajaj and others

(v) (iii) (ii)

Code:
A B C D A B C D
[1 @) (v) () @) [2](@v) (v) (i) (i)
(v) (i) (i) (i) [4] (i) (i) @v) ()

]

[3] (v

[5] Question not attempted

[1]

i. OnJuly 2, 1877, Maharana Sajjan Singh es-
tablished Desh Hitishani Sabha in Udaipur.
It was the first institution for social reforms
in Rajasthan.

ii. 1919 - Rajasthan Seva Sangh was estab-
lished in Wardha.

1. Vijay Singh Pathik

2. Arjun Lal Sethi

3. Kesari Singh Barhath

4. Ram Narayan Chowdhary

5. Hari Bhai Kinker
According to the Economic Survey 2022 - 23,

the GSDP growth rate at constant prices
(2011-12) is-

Founder -

[1] 8.19% [2] 16.04%
[3] 7.19% [4] 11.36%
[5] Question not attempted

[1]

According to the Economic Review 2022 - 23,
which pair is not correctly matched in context
of land use in Rajasthan?

[1] Net Area Sown - 52.34%

[2] Barren and unculturable land - 6.91%
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Sol.

51.

Sol.

52.

Sol.

53.

I & T W @ w ghfea 1@ e

[1] 3(& &= T &A% - 52.34%

[2] =R TN H/Y A= qH - 6.91%

[3] anfTent - 10.87%

[4] 3&f & o d= 9 - 0.09%

[5] SFaRa 7T

[3]

Rt - 8.08%

TR 9f-10.87%

freifra § @ @ gm swRfea 2

1] TSRl - 1961

2] TsreeE fo fmH - 1955

3] TRt - 1958

4] TStifaent - 2010

[5] sTaRa 7

[3]

Rl - 1980

Frefafaa waa W faer Hifaa-

A. ToRe™ ® FaweR 2022 % S &I HA
srfreaifa aran 23487 ATER 21

B. USAM § R o 1 e 142 Whee @
Sfeifeh St e (STHF ®) 13531 HTER 2

C. TSI 9aq T8 gEfoe e HAifa 18 fTawsr,
2020 & SR T TEI

D. & =i gEt 9 foamed s9ga aEee S @
YO@ G 2

[
[
[
[

Iuded ¥ ¥ 9T HUA o

[1] ®ac1 A9 B [2] A,Ba D
[3] ®aa Ba C [4] A,Ba C
[5] sTaRa 7

[2]

TSEM 9o T gRioe e Aid 18 Tawr, 2019

I S W T

Frefafaa wet W faem wifs-

A. TSifoa1, el gt ifuf=m-1958 &
=i dsia 2

B. TSfoeht @l THE Y& TSRl HIEHAT i
frarfer & o1 @ Ga T R

C. T H YomR feereli =t wem 125 ¢ & T )

D. TF ¥ 3 yfaerd o faegdiento & @ea i
W Y feran w2

Iuded U A WA HAA B

[1] ®aa1 A9 B [2] ®aat Ca D

Sol.

51.

Sol.

52.

Sol.

53.

Sol.

[3] Forest - 10.87%

[4] Land under miscellaneous free crops and
groves - 0.09%

[5] Question not attempted

3]

Forestry - 8.08%

Waste land -10.87%

Which of the following pair is mismatched-
[1] RajSICO - 1961

[2] Rajasthan Finance Corporation - 1955
[3] RIICO - 1958

[4] Rajivika - 2010

[5] Question not attempted

B3]

RIICO - 1980

Consider the following statements-

A. The installed capacity of energy in

Rajasthan till November 2022 is 23487 MW.

B. The total potential capacity of solar power
in Rajasthan is 142 GW while the installed
capacity (grounded) is 13531 MW.

C. Rajasthan Wind and Hybrid Energy Policy
was notified on December 18, 2020.

D. Mustard Husk and Julie Flora are the main
sources of biomass energy.

Which of the above are correct statement?
[1] A and B only [2] A,Band D

[3] B and C only [4] A,Band C

[5] Question not attempted

[2]

Rajasthan Wind and Hybrid Energy Policy was
notified on December 18, 2019.

Consider the following statements-

A. Rajivika is registered under the Society

Registration Act-1958.

B. Rajivika has been entrusted with the task
of implementing all urban livelihood
programmes.

C. The number of employment days in
MNREGA has been increased to 125.

D. The target of 100 percent rural electrification
has been achieved in the state.

The incorrect statement from the above are-
[1] A and B only [2] Cand D only

[3] A,Band D [4] B and D only

[5] Question not attempted

[4]
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Sol.

54.

Sol.

55.

[3] A,Bd D
[5] sgafa
[4]

o SR I THE UMHT SATS{AhRT HEAHA i
fopeferd w6 %1 & Giw T R

o SRR 2022 T 43965 Tl o 1.14 @@ @I
1 foagdierd ¢ formn w0 2, it &R 100% =¥
2l

anfofer wHigm 2022 - 23 & AR FAfafEa

HYA W e Fifee-

A. T 2022 % INE HA 986.32 G wHehl |
o ¥ wHo TR 2

B. T & | wies &l Feren <1 & foru Jeteem
IO e AT, 30 T, 2022 %1 A
T 2l

C. 3 ¥ T WY T HA arel S Fey
T 2l

D. fesiieat qmam w1 sgran < & fog Tsee™ &
el =1 vra-viteera fefSemEer™ wt &= @ 2

Iuded U W HE HUT T -

[1] AT B [2] B C

[3]A,Ba C [4] 3wde wsft

[5] sgafa e

[1]

o T W @iF HE Al YU9 T B § o
TS UHl T ool 80 T 2l

o IR, HieTqR, SEerR, TRt el i siens
g § va-gfoera fefSergser &g g w2

SUT-2011 & AR Freafafea ¥ |4 9

wIT F -

A. TSR | a9 2001 9 2011 & &9 vl & |
femgaa # ufa e9R qel W 24 Afeensti
s & 2

B. ToRyM H IAaq vl fefmun Sgerr el
1 2

[4] @ Ba D

C. 2011 F! SUAT &% TIR TSEAE & hod
F R AR o § 50% @ sifuw A
SHEE 2

D. Toe ¥ vl SEE wt fTear 31.14% 21

* Rajivika has been entrusted with the task
of implementing all rural livelihood
programmes.

* Till November 2022, 43965 villages and
1.14 lakh dhanis have been electrified,
which is not 100%.

54. According to the Economic Survey 2022 - 23,

consider the following statements-

A. During the year 2022, a total of 986.32 lakh
tourists have visited Rajasthan.

B. To promote tourism in rural areas,
Rajasthan Rural Tourism Scheme has been
implemented on November 30, 2022.

C. Rajasthan is the first state to launch
tourism app in the country.

D. To promote digital payments in Rajasthan,
100 percent digitization of all districts has
been done.

Which of the above statements are correct-
[1] A and B [2] Band C

[3] A,Band C [4] All of the above
[5] Question not attempted

[

* Kerala is the first state to launch tourism
app and Rajasthan is the 2nd state to do
so, comes second from this point of view.

* Ajmer, Dholpur, Jaisalmer, Sirohi only 4
districts have been selected for 100 percent
digitization in online payment.

According to Census-2011, which of the

following statements are correct-

A. Between 2001 and 2011 in Rajasthan, there
has been an increase of 24 females per
thousand males in the sex ratio in urban
areas.

B. Jaisalmer district has the lowest urban sex
ratio in Rajasthan.

C. According to Cencus-2011 only Kota and
Jaipur districts of Rajasthan have more
than 50% urban population.

D. The share of urban population in Rajasthan
is 31.14%.

Which of the above are correct statement?
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Sol.

56.

Sol.

57.

Sol.

58.

Sol.

59.

Suda ¥ ¥ w wuT -

[1] ®%aa1 A9 B [2] ®aat Ca D
[B]1A,CaD [4] A,Ba C
[5] sgafa oA

[4]

oy A el SHEen i femsr 24.87%

2

Frafafaa ¥ @ s favraar gemE forshd

e ot A @ Wit @ R

[1] 19, 2021 ¥ 38 S 1 YEAT el

[2] S5 wifha qRERi 89 7 YR i gEeAst 1
st T S 21

[3] SR 2023-24 % 3TIER THH i UReR & He&d
1 G R 10 G TG F1 A Ha1 S )

[4] 399 oM, SieM, W 5 & fogwmE, faset
% g, UM % ged, suE ¥ (i, "ew
e whufer 31

[5] SFaRa 7T

[1]

AEStaT AT S -

[1] enfeanfe=i &

[2] @Y IUE % wEEE § for e 9

[3] FogERT ! TSR TAER I HLE™ o

[4] gan St ! T FE H

[5] sTaRa 7

[2]

€ Aol 1dY YRS FaHE W fora wugEi & fog

YepfoTs FEE ST FEN ¥ G © oo

el faehm|

et feRsiat sifte dae dieer & ar o

3T HI §-

[1] S9! SO eie 2023-24 H &1 T

[2] 39 ST=Hiq STEqaTel § ot ' ot feufq H
Tofierd Aoy 3R Wie ded i fada gemEa
Y& i ST

[3] S5k ST HSTGd THIST B TR ST ot STereaiehdl
g 29 14 A 96 200 €= wfafeq R s

[4] @& FISF gffede geol el ol Th Teed €

[5] eTgaf@ wd

[3]

THH ST TOIgd H B W USR] Rl STeveRdl

i 2g 7 i3 96 200 €9 wfafeq e s

Sol.

56.

Sol.

57.

Sol.

58.

Sol.

59.

[1] A and B only [2] Cand D only
[3] A, Cand D [4] A,Band C
[5] Question not attempted

[4]
The share of urban population in Rajasthan is
24.87%.

Which of the following features is not related
to the Mukhyamantri Chiranjeevi Accident
Insurance Scheme-

[1] The scheme launched on May 1, 2022.

[2] In this, 7 types of accidents are insured for
the insured person's families.

[3] In this, Rs 10 lakh is paid on the death of
the insured person's families.

[4] This includes accidents like drowning,
burning, spraying of chemicals, electric
shock, house collapse, falling from height,
road accident.

[5] Question not attempted

[1]

Navjivan Yojana is related to-

[1] Tribals

[2] Communities involved in illegal liquor
businesses

[3] Providing employment opportunities to
the youth

[4] freeing the younger generation from drugs

[5] Question not attempted

[2]

The scheme is related to providing alternative

opportunities such as skill development to the

communities involved in illegal liquor busi-
ness.

The incorrect statement about Mukhyamantri

Chiranjeevi Shramik Sambal Yojana is-

[1] It was announced in budget 2023-24.

[2] Under this, financial assistance will be
provided to registered laborers and street
vendors in case of hospitalization.

[3] Under this, Rs 200 per day will be given
for 14 days to reimburse the wage loss.

[4] This scheme is a part of Universal Health
Coverage.

[5] Question not attempted

[3]

Under this, Rs 200 per day will be given for 7

days to reimburse the wage loss.

Arrange the following in descending order

according to the distribution of

developmental expenditure in the budget:

ave & fawmaes =9 & famor & o Ew
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Sol.

60.

Sol.

6l.

Sol.

62.

Sol.

63.

Freifera w1 STaRiEl W oxaftera wifse-
A. WIS T | Ha

B. T faerg
C. S

D. afiEed

[1] A, B, C, D
[3] A, C, B, D
[5] sgafa
1]
WhiH ar 991 :
o QHISTH Td FHIIEE o - 46%

o T foE - 16%

o Zul -15%

o HY -7%

o EET - 6%

T 2023 -24 % INE AN & IFTAR TS
vt 2-

[1] 2,33,988 s &

[2] 2,58,883 FlE &

[3] 3,43,230 g ®I

[4] 5,44,230 s &

{5}313?1133%

1

TeRYT™ ¥ gad faerma @1eat & vt fnaraam
g Frfefaa # & @ 7= w{a SDG frarasm
wffa @1 reAy gt ?

2]
[4]

S
oXe!

[1] TSt
[2] et
[3] 7t W
[4] Ffq s w1 STEAN
[5] srgafa s
[3]
TRYTE ad fahm @8 Goahieh 4.0 % AR
form fer 71 walfies 3iw wma T 22
[1] g=1 [2]
[3] SRR [4] it
[5] sr3afa s
[2]
FrAfataa = faemg-
Teda forer feora awr
A. I=ZFHA (i) e
B. TS (ii) HIERRI
C. drfeTed (iii) TSI
D. (iv) strefern

Sol.

60.

Sol.

61.

Sol.

62.

Sol.

63.

A. Social and Community Services

B. Rural Development

C. Energy

D. Transport

[1]1 A,B,C, D [2] A,D,B,C

[3]AC B, D [4] A,B,D,C

[5] Question not attempted

1]

Scheme wise budget:

* Social and Community Services - 46%

* Rural Development-16%

* Energy -15%

e Agriculture - 7%

* Transport - 6%

According to the budget estimate for the year
2023-24, the revenue receipts are-

[1] Rs 2,33,988 crore

[2] Rs 2,58,883 crore

[3] Rs 3,43,230 crore

[4] Rs 5,44,230 crore

[5] Question not attempted

[1]

Who among the following is the chairperson
of the State Level SDG Implementation

Committee for effective implementation of
Sustainable Development Goals in Rajasthan?

[1] Governor

[2] Chief Minister

[3] Chief Secretary

[4] Chairman of NITI Aayog

[5] Question not attempted

[3]

According to the Rajasthan Sustainable

Development Goals Index 4.0, which district
has scored the highest ?

[1] Jhunjhunu [2] Sikar
[3] Jaipur [4] Kota
[5] Question not attempted

[2]

Match the following-

Mountain Peak  Located Country

A. Toubkal (i) Canada

B. Aconcagua (ii) Morocco
C. Waddington (iif) Argentina
D. Kosciuszko (iv) Australia

Select the correct Code-
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Sol.

64.

Sol.

65.

Sol.

66.

e wIS TH-

A B CD A B C D
[1] () @) (@v) @) [2] Gi) (D) @) (iv)
[B] (i) () (iv) () [4](iD) (iv) @) ()
[5] eTgaf@ wd
[2]

o FITTER T T e # T
2 0 gt stefern 5 Te feansfen I w1
s 2

= Taehel SolEl, AR SR At § feor
TEAE vad STl H GEad S =6l 2

= THRHTET TSN Tdd el 1 Fog Sl =t
®, Wl <feqor el & ufverdt wm o fee 21

= AfeTed 3T TR ¥ o wera de SfEen

F T e F A T A
e o famm =Y-

A. et &5 gt & Had Yok TE 2 S SRR
e 1 T fEwm R

B el i g A e e A E A b

C. R geid J@en %1 ‘hHE w1 B’ el w2l

TET RIT/HIA T AT -

[1] ®5 B [2] ®aa A

[3] AR C [4] B¥R C

[5] eTgafa e

[3]

= TeAhel G ARIHT H gHed @l & 3o o
o U % HSEl § 9 S @)

ST T T A
IR Afeat

A. afyime S e

B. ufm ESiE|

C. gem= ELC]

D. e . g

[1] C [2] B

8] D [4] g &

[5] eTgafa e

[4]

& T wel e we gafem €

Frafafea ¥ @ foran Wg @&t gofem -
it o T

A. TR e

Sol.

64.

Sol.

65.

Sol.

66.

A B C D A B C
(11 Gi) @) (v) (D) [2] ) (i)
B1Gi) @) Gv) @) [41Gi) @)
[5] Question not attempted
[B]
= Kosciuszko is the highest peak of snowy

mountain range which is a part of Great

Dividing Range of Eastern Australia.
= Toubkal is the highest peak of Atlas

mountain range situated in Algeria,
Tunisia and Morocco.

(i)

= Aconcagua is the highest peak of Andes
Mountain Range, situated in western part
of South America.

= Waddington is the highest peak of coast
mountain Range of Pacific coast range
situated in north America.

Consider the following-

A. Arica region is the driest place on earth
which is a part of Atacama Desert.

B. Elephanta grass is found in Steppes
Grassland in Europe.

C. Pamir mountain range is called "Roof of the
World.

Select the correct statement/s-

[1] B only [2] A only
[3] Aand C [4] Band C
[5] Question not attempted

3]

= Eliphanta grass is found in Savana
Grasslands to the South of Equator in

Africa.
Select the incorrect pairs:

City Rivers
A. Washinton DC Potomac
B. Paris Seine
C. Budapest Danube
D. Lisbon :  Tagus
[1] C [2] B
[3] D [4] None
[5] Question not attempted
[4]

All the given pairs are correctly matched.

How many of the following pairs are correctly
matched-

Industrial Region Country
A. Gallivar Sweden
B. Naushera Iran
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Sol.

67.

Sol.

68.

B. R ELiE
C. fafsesmmm et
D. He @rd R
[1] ®aa 1 [2] ®aa 3
[3] et 2 [4] @t =R
[5] Tgafa g

[3]

=2 He dl® = Hrel

o A = iR

YU WAR K Har FeAfataa § @ fea o |
T 872

A. TH B. #ifen
C. weq D. St
E. #ea

W& HE W TAT -

[1] A B,DRE [2] A B,C,D3RE

[3] B, D 3R E [4] B,C, D3R E

{5}313?1‘&31;@

3

qUe |OR kT W@ 22 39 @ o @, S ¥ -

o YEETtT o TSI

o SHRITRTE o WETH

o 7w o THRA

o iferm o T

o TR o T

o it © TH

o Hifegan o ESfeAT

° ﬁ:['{;[ ° ';Fr{:[

o TIAl o HAH

o TN o ifm

frAfataa gfeat w1 gafea wifse-
geit-1

A. =] 233 B. &g=s] 200

C. 1=t 201 D. #=sg 213
git-11

(i) Toaua g foen = = ff

(ii) T== faufaem g0 oG fagaen | Taa &t
HeHfdl

(iii)TsTare g0 fadae @ Uwufa g fommued
&

(iv)TIIE N AR I HE &1 Al

e :
A B C D A B C D

[1]Gv) () @) @) [2] (@) (i) (i) (iv)

Sol.

67.

Sol.

68.

Chile

USA
[2] Only three
[4] All Four
Question not attempted

C. Chiquicamata
D. St. Lawerence
[1] Only one

[3] Only two

[5]

[3]

= St. Lawerence = Canada

= Naushera = Pakistan

Mediterranean sea is bordered by which of
the following countries.

A. Iraq B. Syria
C. Jordan D. Herzegovina
E. Malta

Select the correct code-

[1] A,B,Dand E [2] A,B,C,Dand E

[3] B,Dand E [4] B,C,Dand E

[5] Question not attempted

[3]

Mediterranean sea is bordered by 22 countries,
which are -

* Albania * Algeria
* Croatia * Cyprus
* Greece * Isreal
* Libya * Malta
* Morocco * Slovenia
* Tunisia * Turkey
* Bosnia * Herzegovina
* Egypt * France
e Italy * Lebanon
* Monaco * Montenegro
* Spain * Syria
Match the following lists-
List-I

A. Article 233
C. Article 201
List-II
(i) Appointment of District Judges by the
Governor

(if) Assent of the Governor on the Bills passed
by the State Legislature.

(iii) Reserving the bill for the consideration of
the President by the Governor.

(iv)Power to promulgate ordinance by the

B. Article 200
D. Article 213

Governor.
Code:
A B C D A B C D

[1]Gv) (i) () (i) [2] (@) (i) (i) (iv)
[3] () (i) (iii) (iv) [4](Gv) (i) (i) (iii)

[5] Question not attempted

Sol. [3]
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Sol.

69.

Sol.

70.

Sol.

[3] () (i) (iii) (iv)
[5] srgafed we

3

gr!@zzoo-w faenfoe gro wi@ fageepi =
TS g Wi <

AR 201 - TIUE 5N fagges =1 Tl &
foamed e @l

AT 213 - TATA FN AR T F
wiferd|

TR 233 - Tt g e =amnferen o6t Fgf
Trefataa weat o faasm wifse-

HYA [ : TF ! BEOREE TF ! faamae & ufa
ufesh &9 9 STEET et 2

®IF I : gerdst &1 fawle & fom w5 @
wfr wiafog & frge ==& 8 wewan

[1] I =&, 11 ot

2] 19 I3 &t

3] 17Tea 11 &t

4119 I e

5] STaRd g9

[2]

3= 164 (B) - AFRoR w7 &1 faumas &
gfq ¥rffes &9 9 SAERET B

Hiufeg # geadst & fawifie & fo g o
fer e &1 fohan s wehal

TRY™ & vuw faamasT gAE § e a@eA
TTe AfgeTel i I faamEer 87 | guted
wIfT-

[4] Gv) () (i) (i)

—_ — — —

HfeeT gersht farerrasT &
A. =T W6 (i) STAT TR
B. Tt 3@t (ii) ST TR
C. wndn =&t (iii) GS@ B
D. fagst <=t (iv) TR
(v) =EETst

&< ¢

A B CD A B C D
1] (i) @) (@v) @) [2] () (D) @3) (@)
[3] (iii) (iv) (i) (v) [4](ii) (@) (@) (v)
[5] srqafa
[2]

T goH famas gAe-1952

69.

Sol.

70.

Sol.

Article 200- Giving approval by the Governor
on the bills passed by the state legislature.
Article 201 - Reservation of the bill by the
Governor for the consideration of the
President.

Article 213 - Power to issue ordinance by the
Governor.

Article 233 - Appointment of District Judges
by the Governor.

Discuss the following statements-
Statement I: The Council of Ministers of the
State is collectively responsible to the
Legislative Assembly of the State.

Statement II: No person can be appointed to
the Council of Ministers without the
recommendation of the Chief Minister.

[1] T is Correct, II is Incorrect

[2] Both I and II are Correct

[3] I is Incorrect, 11 is Correct

[4] Both I and II are Incorrect

[5] Question not attempted

[2]

Article 164 (2) - The Council of Ministers shall
be collectively responsible to the Legislative
Assembly of the State.

No person can be appointed in the Council of

Ministers without the recommendation of the
Chief Minister.

Match the women who contested in the first
assembly elections of Rajasthan with their
assembly constituencies-

Female Candidate Assembly

Constituency
A. Virendra Bai
B. Rani Devi
C. Shanta Devi
D. Chiranji Devi

(1)
(ii) Jaipur city
(iii) Sojat Main
(iv) Phagi

(v) Banswara

Udaipur city

Code:

A B CD A B C D
[1] (i) (i) (iv) @) [2] (i) (i) (@) (iv)
[3] (iii) (iv) (i) (v) [4] (D) (3) (1) (v)
[5] Question not attempted
[2]

Rajasthan First Assembly Election-1952
Four women contested, all four lost.

1. Shantadevi, Independent, Udaipur City.
2. Rani Devi, Jansangh, Sojat Main.

=R Afea gAE ¥ 3Iad, IR ER T

O %2
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71.

Sol.

72.

1. vmRer, feefE, STaq e

2. T A, S, HWie[ w9

3. aR= W%, FRAE, SR e

4. TeRSh &, ®ua . e, W

1953 % SU-TAE H, SHArST faUmE &5 |, g

e 91el it FWRT <ol SHasht TS i Jom

wfeen faumaes a1 1954 % SUFAEl | At FHHen

SraTa, e Afgen faumees

faurufog wewt & fratem et Frafafeaa

HoAl @t faaemT wifau-

A. 1/6 959 T & fagmE & 9<& 510 T
ST ©

B. ¥® ANl & fafes Hed g &=l &
IREd WM w1 frafed R s R

C. T frml & wewl g0 th-foer ges 97
ST ©

WET HYA/ Rl T TIT HHAC-

[1] %aa A9 B [2] Swda |eft
[3]%a@ Ba C [4] ®a@ AT C
[5] eTgafa 7

[3]

=s-171 (3) faurufg & we@i w1 fafem

T frafeeh deat gR B 7, foas e Fegar

=i

1. T-TeTE Tew, faura TRl g U8 St
¥ 9 S foumas 9= | 2l

2. TH ARG §R U % dREd AN SI&t
w1 frate, iRl @1 = &1 feilt fag gu
@ o it srafy qul g sEvE

3. WA i TRUeTsh!, e o wd 3= TrE
giaffy w8t g faumuieg & twh-faer wew
¥+ S 2l

4. 1/12 ws=a @1 fHatew wreafis 1@ 3w
Toreror weorl § 9 o 9@ wreiRa et grn

5. 1/6 9 ToI9E g1 TG 3 =fR e,
foem, e, TRl SIS T8 TS ¥al &
g o fafire e W Bl

HIT A : I HOUE & SER-214 ¥ ITTER

231 ¥ T3 % 34 e Fi W U6 wd Sfearad

]

HYT B : TR So3 TR 1 ITHRA IS

A HHEE 5N SEQR H 25 3T, 1949 Wi fma

el

S HAFA W W WET AT HT I HiTC-

71.

Sol.

72.

3. Virendra Bai, Independent, Jaipur City.

4. Chiranji Devi, KLP-Party, Phagi.

In the by-elections of 1953, Yashoda Devi of
Praja Socialist Party won from Banswara
assembly constituency and became the first
woman MLA of Rajasthan. In the by-elections
of 1954, Mrs. Kamla Beniwal became the

second woman MLA.

Discuss the following statements regarding
the election of members of the Legislative
Council-

A. 1/6 members are elected by the members
of the State Legislative Assembly.

B. The twelfth part of the members are elected
by the electoral college of graduate citizens.

C. One-third of the members are elected by
the members of the local bodies.

Select the correct statement/statements-

[1] A and B only [2] All of the above

[3] B and C only [4] A and C only

[5] Question not attempted

[3]

Article-171 (3) The members of the Legislative

Council would be elected by an electoral

college, whose members would be as follows-

1. One-third of the members, by the members
of the legilaslative assembly from amongst
persons who are not members of the
legilaslative assembly.

2. Election of the twelfth part (1/12) members
by the graduate citizens / completion of
three years period of the citizens with
bachelor’s degree is necessary.

3. One-third of the members of the Legislative
Council are elected by the municipal,
district board and other local
representative members of the state.

4. Election of 1/12th members by teachers
working for three years in secondary and
higher education institutions.

5. 1/6 members nominated by the Governor.
These people hold a special place in the
field of literature, science, art, cooperative
movement and social service.

Statement A: The structure and functions of

the High Court of the states are mentioned in

Article-214 to Article 231 of the Indian

Constitution.

Statement B: The Rajasthan High Court was

inaugurated by Rajpramukh Sawai Mansingh

at Jaipur on 25th August, 1949.

Choose the correct statement from the above

statements-

[1] Both A and B [2] B only
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73.

Sol.

74.

Sol.

75.

[1] Aa B3 [2] ®aa B
[B] 7@ AT & B [4] ®5@ A
[5] sTaRa 7

[4]

Tl & 3=9 e & 9 G GflauH &
o7 6 T STEAT 5H TTes 214 W 231 de Sfeaifaa
B TSR 3= A I ST SR | To99e
T AMfGE 5N 29 3TTEd 1949 1 fefam T ey
eIt T Gl ¥ Heitta Frefafaa et
o o yaum =l 2-

[1] Bsft T W ereaet & gE|

[2] Afgenst &1 33% W STfee STRE|

[3] T=a fam e &1 el

[4] damadt TS GEATSH T oI TeTo|

[5] eTgaf@ wd

[3]

Tt TS geeet ¥ gadt siferd graum:-
THET TS

e Saen

TTd TS Sl JAaq 37y 21 I
HRIREA-5 T

SC, ST & wfeet IR&

T faa st

T frafem s

1€ 99 T Yurd afafd gee & g fates
fSren smersn Gfafq mea
trl‘wznmasm—1omamam2n%waﬁaﬁ
33% § eifye SR 3. YeERl S Heensd @
@l T 4, 9t WU W Ay & gAE|
TR W Ut U e W ufgemsdt @i
50% ITNPUT U 2| 9% UrayE fwe ad @
Torenfara feram e an?

O 0 N oGO N

[1] 2005 [2] 2008

[3] 2010 [4] 2013

[5] sgafa oA

[3]

=] 243 (d) (3) T® dumEd H e Tt

mﬁaﬁmﬁwﬁﬁww%w@w
T e T Afeenet & fou emfem g e
TWHR A Tad o wfeansti & fow emReror @
TH-TIe’ ¥ FgraR 50% T o1 i a9 2009 H
fo=n qen 2010 9@ 9 fwanfaa fwen mmm

Sol.

73.

Sol.

74.

Sol.

75.

[3] Neither A nor B [4] A only
[5] Question not attempted

[4]

The function and structure of the High Court
of the states are mentioned in Part 6 and
Chapter 5 of the Constitution from Articles 214
to 231. The Rajasthan High Court was
inaugurated in Jodhpur by Rajpramukh Sawai
Mansingh on 29 August 1949.

Which of the following is not an optional
provision related to Panchayati Raj
Institutions-

[1] Election of the heads at all levels.

[2] More than 33% reservation for women.
[3] Formation of State Finance Commission.
[4] Audit of Panchayati Raj Institutions.

[5] Question not attempted

3]

Compulsory provision related to Panchayati
Raj Institutions:-

Formation of Gram Sabha

Three-tier system

Minimum age to contest election is 21 years
Tenure - 5 years

SC, ST and Women Reservation

State Finance Commission

State Election Commission

Direct election of Ward Panch and

2 N o U RWINTR

Panchayat Samiti members
9. Constitution of District Planning Committee
Optional Provisions - 1. OBC Reservation 2.
More than 33 % reservation for women 3. Audit
of Panchayati Raj Institutions 4. Election of
heads at all levels.

Women have 50% reservation in Panchayati
Raj bodies in Rajasthan. From which year
this provision was implemented?

[1] 2005 [2] 2008

[3] 2010 [4] 2013

[5] Question not attempted

[3]

Article 243 (D) (3) At least one-third of the total
number of seats to be filled by direct election
in every Panchayat shall be reserved for
women. The Rajasthan government decided to
increase the reservation for women in
panchayats from one-third to 50% in the year
2009 and was implemented from 2010.

Which of the following function does not
come under the jurisdiction of the District

ﬁmﬁﬁaaﬁﬁa—ﬁwaaﬁﬁwaﬁm%
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76.

Sol.
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Sol.

AR o =TI &l 3aT-

[1] eT9=1 geTfod @FT & folw gamast i Faen
T

[2] = T9MEE % WY qHEE SR W@l

[3] fSten =menfaen W o @

[4] STe o SR SEel SR Gl Y wn] w

[5] srgaia W

[3]

fSen =, =mEaeE @ e wEE e

HAFT F EIUHT W e e g1 el et

aAfererTdt, FH=aEeRt, 3TsT fHanes sifuet, fawma

Al & &9 F HE HE 2

Frrefeafaa § @ sFar @ dedieer & el
® ofia ynier e -

[1] 1 99 T TR et el
[2] ¥fa 7 A9el § SHMT YSE ST
[3] GrersttTen faawor gumett @1 e
[4] TeoRTET & AR SR A

[5] eTgaf@ s

[4]

TG & TR R A &l AIPR ITETE
iRt =1 2|

TR T THates 3mam & dawt o f=fataa
¥ ¥ BTET HIT T4 o

[1] Sfaem & T7=8% 243 KW 243ZA T ® T4
frafem e 4 Heifua ga9m 2

[2] SHRT TATO 1 STE 1994 & g8 ot

[3] & &1 FoiaR € fSen fatem afusit g
2

[4] ToTUTET B HEAHAT H Tl W, T Farem
AR 1 USRI TR ST TRl B

[5] TaRd we

[4]

TR T fatem sman:-

HaAHTer - SRR 243 K 243 ZA (9
IXd IXA)

Rl

Sol.

76.

Sol.

77.

Sol.

Collector?

[1] To arrange compensation for the disaster
affected people.

[2] Tocoordinate with military administration.

[3] To exercise control over the District Judges.

[4] Implementation of model code of conduct
during elections.

[5] Question not attempted

3]

District judges, courts and judicial employees

are outside the jurisdiction of the District

Collector. District Collector works as Revenue

Officer, Administrative Officer, Magistrate,

Election Officer, Coordinator, Disaster

Mitigation Officer, Development Officer.

Which of the following function is not
included in the duties of Tehsildar?

[1] Work related to boundary demarkation
and takashma.

[2] Granting of bail in breach of the peace cases.
[3] Inspection of Public Distribution System.
[4] Issuance of Pathargarhi orders.

[5] Question not attempted
[4]

The sub-divisional officer has the authority to

issue orders for Pathargarhi.

Which of the following statements is
incorrect with respect to the Rajasthan State
Election Commission?

[1] Both Article 243K and 243ZA of the
Constitution have provisions related to the
State Election Commission.

[2] It was established on 1 July 1994.

[3] The Collector of the district is the District
Election Officer.

[4] The State Election Commissioner can be
terminated of office by the Governor on
the advice of the Chief Minister.

[5] Question not attempted
[4]
Rajasthan State Election Commission:-

Constitutional Commission:- Article 243K
and 243ZA (Part IX and IXA)

The decision to establish this commision was
taken on 17 June 1994 and was established on
1 July 1994. It is a single member commission.
The State Election Commissioner is appointed

TEHRT TO &1 O 17 SF 1994 =1 femn
[EpEEE
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Sol.

Tl 1 SemE 1994 1 TIAT G5l I8 Thal TR&A
I B o Trater e w1 gl Toaarel R
qeaml e wAaieR w1 fAwie | # S R
BH H ARA - A gN I=E e &
RN 1 BSH hI Yok & Tl

fSten fratem afusrt o fSen gsias efuswrt <=t

T W e Fodl wE HE B

TSRAT ek Ve AT & dag W Ffafaa

HIA W fa=m wifea-

A. TIO & THI 3HH T ALAe] U8 9R 95 9|

B. =AM W THH Th LA UH Wi WSS 2

C. 3HH TS HI G&A FHl HH AT G FH FHl
AfYUHR TIq & I Bl 2

HE T T =TT R

[1] % A9 B [2] @@ Ba C

[3] swdea |t [4] %o AT C

[5] SFaRa 7T

[2]

TSRAT s 9ar A=

HEEA 2~ TO % WA - U SIeAe] TS 4 S|

(A=Y~ TE.H.AY, G - SLum. foert v wA

3R, TR

I § TH AeFe] T 9 95|

TSR lieh gan 21, fafem, 1974 g s

TEH TS H WA & HH AT SAR B

TR T 2l

T W wagey fra faum 3 wmftes aifuewr

ux o feRar-

[1] 7 w=ea ud ifEitaeht faam

[2] @ISR =& Wa stfyeRiiar fawemr

[3] #feen wd ot foehre faam

[

[

4] @TE TS ARG S fasm

5] STRa e

[4]

ARG HRR TA:- T 1991 527 o wwafed
Tt & FUAHA S TS (1990-1997) 7 gomeE |
SR, TR T IR @ 2q void 93
S foRan, S fova &1 gem AR SifyeR 9=
FEAd 81 9Rd H FHFHA $HRAR oA & gAY
1997 ¥ el & WHed | ==l qen e o
@M Td AR SAfd A g an] R T
AN ®:- @R & e 3mgfd fasmT (1998 )

78.

Sol.

79.

Sol.

by the Governor on the recommendation of the
Chief Minister and the Council of Ministers.
Removal Process - Similar to that of a High
Court Judge by the President.

The District Collector works on both the posts
of District Election Officer and District
Registration Officer.

Consider the following statements regarding
Rajasthan Public Service Commission-

A. At the time of establishment, it had a
chairman and four members.

B. Presently it has a chairman and seven
members.

C. The Governor has the right to reduce or
increase the number of its members.

Select the correct statement-

[1] A and B only [2] B and C only

[3] All of the above [4] A and C only

[5] Question not attempted

[2]

Rajasthan Public Service Commission:-

Structure:- At the time of establishment - a

chairman and two members.

(Chairman- S.K.Ghosh- Members:- D.S. Tiwari

& N.R. Chandorkar)

Presently one chairman and seven members.

The Governor is empowered to increase or

decrease the number of its members by the

Rajasthan Public Service Commission,

Regulations, 1974.

Which department first implemented the

Citizen's Charter in Rajasthan?

[1] Public Health and Engineering Department

[2] Department of Social Justice and
Empowerment

[3] Women and Child Development Department

[4] Food and Civil Supplies Department

[5] Question not attempted

[4]

Citizen's Charter: In 1991, the Prime Minister

of the Conservative Party, John Major (1990-

1997), released a white paper called the

World's First Citizen's Charter to bring

accountability, accountability and transparency

in administration of Britain. In India, it was

discussed in the Chief Ministers' Conference

in 1997 during the time of Prime Minister Indra

Kumar Gujral and implemented by the

Ministry of Food and Civil Supplies in the

same year.

In Rajasthan:- Department of Food and Civil

Supplies (1998 AD.) Board of Revenue (1999

AD.)
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o Hed (1999 %)

72 S=eil Wt Ueh hell W ooell ol Ulemal 3R
W § 39 YRR 9341 ST TR udieR ufem o
Tl Rl HEAT U W H o=l & §Em ¥
12.5% 21fieh 2 Uk uferd ® feram o=t 87

[1] 8 [2] 9
[3] 12 [4] 18
[5] TgaRd g

[2] 7 THfST foF g wiem | s=dl &1 & x
21 @, Y% U H Sl @1 9@ =

1

225 1 9
= X——XX =—
2 7100 8
XX—="72
C L SN
9
. . . . 9x
mzmwﬁﬁﬁav—nﬁaﬁw=?=9.

T SMEHT /et 12 29 IR Higal @i ¥ .
500 Tl AT §1 Uk HA T G &, 50 % AR
Tk Al B HeA E. 40 71 TS TE AT 31X
U ot GEAT T U R 272

1] 1:2 [2] 5:1
[3] 2:1 [4] 1:5
[5] Tgafa o

[2]

e foh Tl T A # gen x 2l

a9 TS T BfHA w Hen = (12 - x)
50x +40(12 — x) = 500

< 50x —40x =500-480

S 10x=20x=2

Tafey, AT w1 HeEn = 2 SR B w1 gen=10 O

37d: e eUd =10:2=5:1

Teh JGHT A AIENUT S WX S i Uk ffvera
T X ek THT 1 Frawr feram 3iv 3@ 3me ad
g 60% Aferes [T iedt| af a8 |remeT =&t

In a class of 72 children, children are made to
sit in rows and columns in such a way that the
number of children in each row is 12.5% more
than the number of children in each column.
How many children are there in each row?

[1] 8 [2] 9

[3] 12 [4] 18

[5] Question not attempted

. [2] Let the number of children in each column

be x. Then, number of children in each row

112%% of x

225 1 9x
X——XX =—

2 7100 8

9x ,  12x8

. xx?:72 = X = =64=>x=8

Therefore, the number of children in each

9x
=—=09,.
row 3

A man spends Rs.500 to buy a total of 12
tables and chairs. The cost of a table is Rs.50
and the cost of a chair is Rs.40. What is the
ratio of the number of chairs and tables

purchased?
1] 1:2 [2] 5:1
3] 2:1 [4] 1:5

[5] Question not attempted

- [2]

Let the number of tables purchased be x.
Then number of chairs purchased = (12 - x)

50x +40(12 — x) = 500

< 50x —40x =500-480

& 10x=20=x=2

Therefore, number of tables = 2 and number
of chairs =10

Hence, required ratio=10:2=5:1

A man invested a sum of money at a certain
rate of interest on simple interest and got 60%
more amount after eight years. If he invests
Rs 9600 at the same rate of interest on simple
interest, then what will be the total interest
he will get after four years?

T TH = 9T U F, 9600 T F1IwT wear £, @ [1] Rs. 3840 [2] Rs. 2880
=R w1 38 F{A forer e faerm? [3] Rs. 2520 [4] Rs. 2160
1] =. 3840 2] ®. 2880
[ [2] [5] Question not attempted
[3] % 2520 [4] %. 2160
[5] rgaia 9o

EEREE
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83.

Sol.
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Sol.

=P
37d:, 39 g R = 1.6 P
AT &S R =1r%
YT & AR

erxi=1.6P—P
100

8Pr 0.6x100 60
ST _06P _ r= _ 2275y
= 100 = 8 8 ’

3d: SH T 9600 W S R W 494 | Y =T

~9600x7.5x4
100

s Tafyea afdr werafg = &ttt Ffvea
T U IUW & It 1 T 2 96f H S god |
1.44 T & WA €1 Afg 3E 0T @ SH W W
WIYRUT S W1 3YR fEar simar 2, @ a8 fda

=2880

aut ¥ W& A g1 Set?
[1] 3= [2] 45
[3] 53 [4] 63
[5] eTgafa e

[3] W A = D,

2 2

T T

_ ) Sda=|1e
1.44P P£1+100j ( 100)

A=1447P

= l4—=12 = 02 r=20%
100 100

A AYT = P, Q¥R &A1 = P
_ Px100
Px20

110 HET x 65 WeX @& Ueh ATATRR 919
YGUE & HeT TR I 2.5 WeT =T swnl &1
TR 2| T &l SR § o9t R 80 U

r=20% ot 5 o9

gfa ol Hiex i I A J@ wSw)
[1] & 850 [2] & 800
[3] % 650 [4] % 680
[5] ergafa wed

[4] J@vs F1 &% = (110 x 65)¥2= 7150 H2
T FI DR JEVE HI &THA
=[(110 - 5) x (65 - 5)] H*= 6300 H
T 1 &7%a = (7150 - 6300) i = 850 Hr

83.

Sol.

84.

Sol.

person = P

So, amount he got =1.6 P

Let rate of interest = r%
According to the question

erxizlﬁP—P
100

8Pr 0.6x100 60
= —=0.6P = Ir= =—

100 8 8

=7.5%

Hence the interest he received on Rs. 9600 in 4
years at the same rate

_9600x7.5x4
100

=2880

A certain amount is lent at a certain rate of
compound interest. It increases to 1.44 times
of its value in 2 years. If the same sum is lent
at the same rate of simple interest, in how
many years will it double itself?

[1] 3 Years [2] 4 Years
[3] 5 Years [4] 6 Years
[56] Question not attempted

[3] Principal = P, A=144P

2 2

r r

44P = L) 14418 —
1.44P P(Hlooj ( 100)

Tr r
14— 212 = 5 02 r=20%
= 700 =~ 100 ’

Then Principal = P, Simple Interest = P

t_P><100
Px20

r=20%

=5years

A rectangular grass plot of 110 m x 65 m has
a gravel path 2.5 m wide all around it. Find
the cost of gravelling the path at the rate of
80 paise per square metre.

[1] Rs. 850 [2] Rs. 800
[3] Rs. 650 [4] Rs. 680
[5] Question not attempted

[4] Plot Area = (110 x 65) m?= 7150 m?
Area of plot excluding Path
= [(110 - 5) x (65 - 5)]m*= 6300 m?
Path of Area = (7150 - 6300)m?*= 850 m?
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T Ht IS7 1 AN =E(850X%j='5. 680

v 'DIGEST' & gl ol fehaq adenl @
aftaa frar ST weRar € difes @R et T
T q gl

[1] 720 [2] 840
[3] 480 [4] 240
[5] oTgafa g

[3] &€ T v DIGEST ®, &9 X IE & T&%
HAW H ®Y H oA B

fiRY, &1 39 DGST (IE) % ®9 # for@ gshd 2
W IR U 5 eR € T2 enaw o oyafied o W
Hehall 2

|5=(5x4x3x2x1)=120 TR

[E @eRi ol 2 TE § oFafterd fenan ST Hehal 2|

U T % o S7eR il WU WY SHArd HH
=1 fafemi w1 @ = (120 x 2) = 240 TF 2l

. Rumuws & et el o Eied w0 &
ThT BT T = [6 = (6x5x4x3x2x1) =720 ThI
K

-, AL & TR i G&AT dIfeh @R Hf Th el
T B = (720 - 240) = 480

52 Uil @t Ueh TSN ¥ ¥ 2 UN Agiesw e

85.

Sol.

I ¥ EET T Wiewar & fF ar o 9 st 86

£ o 9 w7
[1] 55/221 [2] 56/221
[3] 54/221 [4] 221/55
[5] egafa s

~(52x51)

[1] TR 99 T n(s)="C, = =1326

(2x1)
M A = S et BT I HLH i T2
B =3 o & e &1 s
AAB= T TG I SH W B i TS

(26x25)

=20, =022 s
n(A)="% =750

_4 _(4X3): _20 _
n(B) = Cz__(le) 6 sik n(AnB)="C, =1

Sol.

80
Path Gravel Cost = Rs. [SSOXEJ = Rs. 680

In how many ways can the letters of the word
'DIGEST"' be arranged so that the vowels
never occur together?

[1] 720 [2] 840

[3] 480 [4] 240

[5] Question not attempted

[3]

In the given word DIGEST, we take the vowel
IE as one syllable.

Then, we can write it as DGST (IE).

The word consists of 5 letters which can be
arranged among themselves.

Ways [5=(5x4x3x2x1)=120

IE characters can be arranged in 2
ways.”Number of ways of arranging the letters
of the given word with the vowels = (120 x 2)
= 240 ways.

. There are number of ways in which all the
letters of the given word can be arranged.
=[6=(6x5x4x3x2x1)=720

Number of ways of arrangement so that
vowels never occur together = (720 - 240) =
480

Two cards are drawn at random from a pack
of 52 cards. What is the probability that either
both are black or both are queens?

[1] 55/221 [2] 56/221
[3] 54/221 [4] 221/55
[5] Question not attempted

(52x51)

[1] we have n(s)="C, = 2 =1326

Let A = event of getting both black cards
B = event of getting both queen.
AnB= The event of getting queens of

black leaves.

_ (26x25)
o @2xD)

n(A) =*C, =325

4 4x3
n(B)=‘C, :EM))=6 and NANB)=C, =1
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Ay A 325 _nB)__6

&) n(S) 1326° P®) n(S) 1326
and P(AmB):m:L
n(S) 1326

P(AUB)=P(A)+P(B)-P(ANB)

(325 6 1 )_330 _55
1326 1326 1326) 1326 221

_n(A) _ 325 _n(B) 6
PA)= n(S) 1326’ P(B) = n(s) 1326
and p(AmB):w:L
n@S) 1326

P(AUB)=P(A)+P(B)-P(ANB)

(325 6 1 )_330 _55
1326 1326 1326) 1326 221

87. fear war urE-=é ufwr wheil ® famnfiai wr 87. The given pie-chart shows the percentage of
wfaera 3k AlfeTeRT Ueeh Tt ® oIgahl iR

Sol.

88.

wreferdl & 3TUTA W qoIieT 2

uE-we 3R darfeTeRt T a3 SEe

a1 feu T ye @ 3w

Frafafaa arfeerr ofer et o ogfwal eiX

TG T ST TR

e g - as
A

m|O |0 |
AR |u|N|w
PN |w|wls

whe D ¥ wefeal #t wem, whe B W gt
i He A fera ufara W {1 (Ferean gurier )?

Sol.

88.

[1] 35% [2] 19%
[3] 27% [4] 33%
[5] eTgafa T
[4] e Hfqe
3 1
15% > —18% -
:gxloo =270 100 =3 %100 = 33%
3 9
15x=
5
i e & Freafaiaa aomafe el @ 3T
3l | GAfea shifaa-
L[4
A. SequmEae B. drareay
C. Heeae D. geaet
3ref

(i) =7 Frieenl =1 TqE

students in five schools and the table shows
the ratio of boys and girls in each school.

Study the pie-chart and table and then
answer the given question.

The following table shows the ratio of girls
to boys in five schools:

School Girls : Boys

m|o|0|®m|>
ENE TSN RGN [N [
BN (W w |

The number of girls in school D is what
percent less than the number of boys in
school B (nearest integer)?

[1] 35% [2] 19%
[3] 27% [4] 33%
[5] Question not attempted

[4] Required Percentage
15><§—18><l 9_6 3
-5 34100= x100 ==x100 = 33%
3 9
I5x=
5

Match the following administrative post of
mauryan period with their meaning -

Post
A. Laxanadhyaksha B. Potavadhyaksha
C. Kupiyadhyaksha D. Sunnadhyaksha
Meaning

1. Chief of forest inspectors
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Sol.

89.

Sol.

90.

Sol.

91.

(i) qx1 fasm 1 yq@

(iii) TISTM A1 IqE

(iv) g-dret faram =1 wq@

e
A B CD A B C D

[1] () @) (D) Gv) [2] (@) (@v) (D) (i)

[3] (iif) (i) (iv) (i) [4](@v) (i) (i) (9)

[5] sTgaf@ e

[2]

Hredehret 7 et & fmm o 26 faam = o, fas

@ W eRe’ el Sl ol

frafafaa o @ o/ wom &I Bried -

[1] “=qu’ =1 Scor@ Heged ®rag o fier 2

[2] fava &1 o™ =1 FE W aren ‘fava wifa
W' TR (faer) # srafed 2

[3] W= W@ TR G & o i fowry seqist
1 Seoid w2l

[4] T8 §@ HE 7=

[5] eTgaf@ 7

[3]

< WW g & Sed & R fovw wewm ®

wafom & 2, SQ- A (IE W), WA

(e YeadA) del HIR (9) Gafua 2

frmffaa ¥ sraifea T -

T [greCD
[1] SrewRt - gy
[2] frE - AH
[3] TSt - 3
[4] Efesm - T
[5] eTgaf@ T
[1]

o FRER HI T BUAHT & TER HETRR
FUIYeE 7 FT off)

o gAY F ‘arEERd’ wHi A @ e

Freafafaa wet w faem wifae-

A. ITSIg® §9EE A AL 99 & foAw ® weeyu
frer e off)

B. "R W& dfUd Y F% WEwl N Gied
IR ¥F-HIST 1 Seoie HIdl B

Suda ¥ | W He B-

2

2. Chief of Currency Department
3. Chief of Slaughter houses

4. Chief of Measurement Department
Code:

A B C D A B C D

1] (i) (i) (i) @v) [2] (i) (v) (1) (i)

[3] (iii) (1) (iv) (i) [4](Gv) (i) (i) (D)

[5] Question not attempted

]

In the Maurya period, there were 26 depart-

ments under the control of Tirthas, whose head

was called 'Adhyaksha'.

Select the incorrect statement from the

following :-

[1] The mention of ‘Stupa’ is first found in
Rigveda.

[2] The “Vishwa Shanti Stupa’, which is said
to be the tallest in the world, is located in
Rajgir (Bihar).

[3] Sanchi Stupa mentions specific events of
the life of Mahatma Buddha.

[4] None of these

[5] Question not attempted

. 3]

The Sanchi Stupa is not related to any specific
event in the life of Buddha, such as Bodhgaya
(enlightenment), Sarnath (turning of the wheel
of Dharma) and Kushinagar (death).

The mismatched pair among the following -

Composition Author
[1] Kadambari - Subandhu
[2] Nirukta - Yasak

[3] Kavyadarsh - Dandi

[4] Indica - Arrian

[5] Question not attempted

- [1]

* Kadambari was composed by Banabhatta,
the court literary scholar of Harshavardhana.

* Subandhu composed ‘Vasavadatta’.

Consider the following statements-

A. The Ajivaka sect played an important role
in the destruction of the Nanda dynasty.

B. The Tamil text Mamulanar mentions the
immense wealth accumulated by the
Nanda rulers.

Which of the above is a correct statement?

[1] A only [2] B only
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Sol.

92.

Sol.

93.

Sol.

94.

[1] o A [2] #a= B
[3] A9 BTHI [4] =8 | #E e
[5] eTgaf S

[3]

o THECA g9 e g Tnfi e GusrE |
7 99 & faamr ¥ qfienr farh o

o F% Y H TEW H Ieor@ AHA HeF AEEAR
& erfafie HAHRETR AR o= o a2

FAEEA et & Had o fTeha waEl W@

faem wifse-

A. o R T & 9fa SEsw i AT w6
ST TR e

B. dd a9 ¥ WifeR & 9r< foman o

C. 9o goad, e oe 9m ¥ ‘e’ I H
v feRa em

D. &St G| % Y 3Hh FaR qEs 2

Iuded § ¥ AT HAT B

[1]®sa@ A,Ba C [2]%aa B,Ca D
[3]%aad A, Ba D [4] 3= Teft
[5] eTgaf@ wd

[3]

o TEGEN ek (1320-25 E) YoM HedM ol
597 ot ™ it vTss <1 yAm feRam em

o TEREN e 1 Sfdeh AH-TSI Atk ol

frafafea o @ fem v & ana fasamr

3T SET WU & " TR SIS I ART

faare yrw 2 & an?

[1] To= 9o [2] o= g
[3] ¥T=7q <o [4] F91 a0
[5] eTgafa T

[1]

o I YUH A G R I IO W H S
e

o TUE HHA T TA A FRIE Wil F g
T W Sy O w SR TS # R

o TR I TR TS hl TR TEHAT FHSA
¥ ¥ & 7 T e

frefRa § & TeReReRTee TorseRe i fagraar

& 27

[1] femhen ® o, 9t Td et T 1 TA g

Sol.

92.

Sol.

93.

Sol.

94.

[3] Both A and B [4] None of these
[5] Question not attempted

3]
* The Ajivaka sect founded by

Makkhaliputta Gaushala played a role in
the destruction of the Nanda dynasty.

* Apart from the Tamil text Mamulanar,
Kathasaritsagara and Hiuen Tsang also
mention the wealth of the Nanda dynasty.

Consider the following statements regarding

Alauddin Khilji-

A. Samudragupta’s policy towards South
Indian states was followed.

B. Kohinoor diamond was obtained from
Kakatiya dynasty.

C. The first Sultan, who used the word ‘Ghazi’
in his name.

D. Its dialogue with Qazi Mungis is famous.
Which of the above are correct statements?
[1] A, Band Conly [2] B, Cand D only

[3] A, Band D only [4] All of the above

[5] Question not attempted

3]

* Ghiyasuddin Tughlaq (1320-25 AD) was

the first Sultan, who used the word ‘Ghazi’
in his name.

* The real name of Ghiyasuddin Tughlaq
was Ghazi Malik.

In the time of which of the following ruler,

the dispute over Raichur Doab started

between Vijayanagara and Bahmani

kingdom?

[1] Devaraya I [2] Devaraya II

[3] Achyuta Devaraya[4] Krishna Devaraya

[5] Question not attempted

1]

* Devaraya I included Turkish archers in his
army.

¢ Nicolo Conti, an Italian traveler who came
during this time, has provided information
about the construction of a dam on the
Tungabhadra river.

e At this time, a conflict had started with the
Bahmani kingdom over the Raichur Doab.

Which of the following is not a feature of

painting during Akbar's reign?

[1] Red, Yellow and Blue colors were being
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Sol.

95.

Sol.

96.

Sol.

97.

T ATl
[2] TiTSI®T 1 FANT RS BT
[3] =IeTN Bred 1 Vel e ¥ o T of
[4] fafa fe=mn
[5] rgaRa W
3]
ershTel fesreren o #ifern Sied it well, SRR
% T SR ef

Frafefea § & sraafea @ 2-
e T a6
A. I HESIR g - 1870
B. fayen qAfdare o= - 1861
C. TFh TIhIFe AEre- 1887
[1] % C [2] ®aa A
[3] %ot A4 B [4] =9 ¥ ®E e
[5] sgafa wed

1
[1]
o TFRT UIHIAS WGP H T 1884 5 H

AT off| TS MO STNERY, TR T,
1@ MR fiere s6Y g8 g 9

o ¥ 1887 H sfUead el HIvTA Hi-hT H1 TS
fopam = e

frafafaa o ¥ s wiafata fafeer v ®

ad 1911 & SR ufeq TE g off-

[1] S& fasrs@ o1 FHIS I i SHOM|

[2] TR iR S =i wid s =

[3] % TR i T hetehdl H gl Koot
TR i TSI

[4] STt & At ST Wi <ETeT Y T

{5}313?113?1‘13?

4

M H g HifdeRrt God @ et SR W fafew

&R 7 FEF0 39 ama & 9 7ared wi ad 1908 H

3gremeR #R T e

e @ gus Y faer iR s wi uw uid

ERlEiie

1935 & Afuf=m 9 3, fay 9 s-ufvem dm

id i A T TERE T

MeHS AWl & oy § fenfea s w

fo=m st

A. 99 § TH off e &1 e fafewr wra #
T g3 el

B. &9 A f9% U e ¥ A forn em

C. 9% TR THeH & 918 Ffog Ta= STiaier

Sol.

95.

Sol.

96.

Sol.

97.

used in painting.
[2] The use of round brush had started.

[3] The style of leaving margins became
prevelant.

[4] Mural painting.

[5] Question not attempted

[3]

The art of leaving margin in Mughal painting
came at the time of Jahangir.

The mismatched pair among the following
is-

Organization Establishment Year
A. Poona Sarvajanik Sabha - 1870
B. Widow Remarriage Union - 1861
C. Deccan Educational Society - 1887

[1] C only [2] A only

[3] A and B only [4] None of these

[5] Question not attempted

[1]

* The Deccan Educational Society was

established in 1884 AD. Gopal Ganesh

Agarkar, Gopalkrishna Gokhale, Bal

Gangadhar Tilak were associated with it.

* The Indian National Social Conference was
formed in the year 1887.

Which of the following events did not took

place in British India during the year 1911-

[1] Declaration to revoke the partition of Bengal.

[2] Bihar and Orissa province was created.

[3] The capital of the central government was
shifted from Calcutta to Delhi.

[4] Nine leaders of Bengal were deported.

[5] Question not attempted

[4]

In the initial phase of the revolutionary

struggle in Bengal, the British government had

deported 9 leaders of Bengal in the year 1908.

Bihar and Orissa were made a province after

being separated from Bengal.

By the Act of 1935, Orissa, Sindh and North-

West Frontier Province were made new states.

Consider the following statements regarding

the Round Table Conferences-

A. None of these conferences was organized
in British India.

B. The Congress participated in only one
conference.

C. After its third conference, the Civil
Disobedience Movement was started again.

Which of the above are not incorrect statements?
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TF: IE & T [1] B and C only [2] A and B only
31@7;5 T A 3T FIT T& o- [3] A and C only [4] All of the Above
[1] %o Bd C [2] %o A9 B [5] Question not attempted
[3] F5@ AT C [4] S wef Sol. [2]
[5] SFERE woA ¢ All the three Round Table Conferences

(1930, 1931 and 1932 AD respectively) were

Sol. [2] organized in London.
o T MoHS g (HHE: 1930,1931 9 1932 * Congress participated via Gandhiji’'s
£) &1 TEeH ofed § fRar T e representation only in the Second Round
i . Table Conference.
* HOE T FHod TA oS FHAT H WS 5 * After returning from the Second Round
gfafafaa & am fa=n em Table Conference, Gandhiji resumed the
. E;{il'\{ Tioms TEeE § oy % S et 3 Civil Disobedience Movement.

& e fo ¥ TE R el 98. Select the option that best arranges the

. following institutions in chronological order-
98. FAferiiad TeaTT h1 I HITRUIIE SHafterd A. Department of Atomic Energy

RO e fereheT wh e - B. National Physical Lab
A. 7 Sl ]%mmaa C. Tata Institute of Fundamental Research
B. Rr Twiaehal ‘ D. INCOSPAR
C. = geige o woerHed fe [1]A-B-C-D [2]B-A-D-C
ﬁ']sAq_“B“_(C_D 2 BA-D.C [3]C-B-A-D [4]D-B-C-A
[3] C-B-A-D [4] D-B-C-A [5] Question not attempted
[5] safa e Sol. [C]
Sol. [3] Institute Establishment - Year

e TTOET 9 1. Tata Institute of Fundamentals - 1945
1. 21 $EIge S wuemen Rud-1945 pesearch
5 3 S 39 - 1947 2. National Physical Lab -1947

' 3. Department of Atomic Energy - 1954
3. WA Sei favm - 1954
4. INCOSPAR - 1962

4, THER - 1962

Directions : Study the following information

Ty : Frfafaa S &1 sFydE STeE carefully and answer the question given below :

frer fou @ g & S ST ‘P @ Q" means ‘P is sister of Q.

P@Q ® e 8 P, Q! 9 B ‘P + Q" means ‘P is brother of Q'.

P+ Q & 3k ? ‘P, Q&I T 2 ‘P $ Q" means ‘P is husband of Q'.

P$Q & 3k ? ‘P, Q&1 ufd 2l ‘P % Q’ means ‘P is mother of Q.

‘P%Q #H e § ‘P,QH Tl 2l ‘P & Q' means ‘P is father of Q.

‘P& Q® & & P, QH firm 7| 99. Which of the following indicates that ‘D is
99. ﬁﬂfﬁﬁﬁﬁﬁaﬁ#—ma‘gﬁrﬁ‘em%ﬁn niece of A’-

D, A # WSt 87? 1] A+M%R$D@V

[l A+M%R$D@V 2] B&D$SH+A%T

[2] B&DSH+A%T B3] ASF%W@D %M

A Foo DOO
{i}A?—K{&VI\)/gL;QM [4] A+K&D@L$Q

[5] srafa v [5] Question not attempted

Sol.[4] Option (A)
Sol.[4] foed (A) A +MP A is the brother of M., M % R = M is the
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Sol. [3]

A+M=A M& 9€ 3,M % R =M, R%! 9l
2

R$D =R, D= ufd 2l
2

3@, A, D! 9 F 9E 2

foshed (B)

B&M = B, D@l firl 21, D$ H = D, H# dfa 21
H+A=>H A® € 21, A% T= A, TS 9@l
2

D TT& &9 2l

faesmea (C)

A$F=A F& ufd 28, F% W=TF, W d«l
2

D@V =D,V & &7

W@D =W, D%l o 21,

D %M = D, M %! |l 21

A, D= fir 21

fashed (D)
A+K=A K@ 9E 21, K$D=K, D% f
2
D@L=D, L% 587 281, L$ Q= L, Q= dfa 2
D, A& TS 21

100. Frfafaa smegfa ¥ fwa firaw 22

[2] 25
[4] 26

6 1

T 3% 9 99 s &6 "' =1, 2,3,4,6,8, 9,10,
11,12 =10

3 sfeRl | T Fags & wem = (1, 2), (1, 6), (3, 4),
(12, 8), (9, 10), (10, 11) = 6

T4 ofenl & a9 st &t "em = (2, 5,12), (3, 5, 6),
(3,5,12),(4,7,8), 4,7,11),(8,7,9) =6

B: 3fhl W o7 Fagsl &t 9@ = (6, 5,3, 4,7, 11), (2,
5,12,8,7,9) =2

3Tq: /A S I & =10 + 6 + 6 + 2 = 24 TAqS

100.

Sol. [3] |6 11

101.

mother of R.
R$ D =Ris the husband of D., D@ V P D is the
sister of V.
Hence, A is the brother of D's mother-in-law.
Option (B)
B & M = B is the father of D.,, D $ H = D is the
husband of H.
H + A = H is the brother of A., A % T = A is the
mother of T.
D is a male.
Option (C)
A $F = A isthe husband of F., F % W =F is the
mother of W.
W @D =W is sister of D.,
D % M =D is mother of M.
A is father of D.
Option (D)
A + K P A is the brother of K., K$ D P K is the
father of D.
D@L =D is the sister of L., L $ Q = L is the
husband of Q.
D is niece of A.

How many triangles in given figure?

[1] 16 [2] 25
[3] 24 [4] 26
[56] Question not attempted

Number of triangles formed by one digit =1,
2,3,4,6,8,9,10,11,12 =10

Number of triangles formed by two digits =
(1,2),(1,06),(3,4),(12,8), (9,10), (10,11) =6
Number of triangles formed by three digits =
(2,5,12),(3,5,6),(3,5,12),(4,7,8), (4,7,11), (8
,7,9)=6

Number of triangles formed by six digits = (6,
53,4,7,11),(2,5,12,8,7,9) =2

Hence total number of triangles =10+ 6 + 6 +
2 = 24 triangles

SEPTEMBER 24

B

[1] saBMmaTIHEE [2] dagwarqgae
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101.

SEPTEMBER 4

B
[1] saBmaTIHEE
[B] smawargze

[5] STIaRd g

[2] sagwaTgde
[4] ssaamaTgae

Sol. [4]

102.

103.

AdIMHATIHS

T&H H2 9 ¥ 'TIGER' &I 'RIGHT' ferman
S 1 S e W 'CROWN' &t %@ feaair?
[1] NOWRC [2] NRWCO

[3] NOWCR [4] NROZC

Z9A, X7D, ?, T3], RIM
[1] W6F [2] S3H
[3] GOW [4] V5G

[5] STTARd T

Sol. [4]

104.

Frafafiaa siw gEen § W@ 7 feay ¥ e
UIF & Sk el 5 § W qia g 8 Tl 87
235789345761935748325788925

[1] == 2] =%
[3] & [4] <=
[5] eafa T
Sol. [3]
5[7[8]

105.

T A E 2 [576]5[574]

AT B IR IET ST ©| BSW B 3R A=A
&l 21 Cud D faudia feemet # am=n &xa €1 D,

[B8] saawaraae [4] staamaTgae
[5] Question not attempted

Sol. [4]
AdIMATIHZ
102. If TIGER is coded as RIGHT then how would
you code CROWN in that code language?
[1] NOWRC [2] NRWCO
[3] NOWCR [4] NROzZC
[5] Question not attempted
Sol. [4]
12345 5237?21
TIGE R RIGH T
I +3 Q T
1234 5 5237?71
CROWN NROZC
| +3| /T\ T
103. Z9A, X7D, ?, T3], RIM
[1] W6F [2] S3H
[3] GOW [4] V5G
[5] Question not attempted
Sol. [4]
-2 ), -2 -2
| ¥ : ) v
9 X7D V5G T3] R1M
2] o T tof 24
+3 +3 3 +3
104. How many such 7 are there in the following

number series each of which is immediately
preceded by 5 but not immediately followed by 8?

235789345761935748325788925
[1] None [2] One
[3] Two [4] Three
[5] Question not attempted
Sol. [3]

[5]7]38]
Such sequences are ;

A travel towards East. B travels towards
North. C and D travel in opposite directions.
D travels towards right of A. Which of the
following is definitely true?

105.

[1] B and C travel in opposite directions

[2] C travels towards West

A @ gifi a8

Z W%lﬁmﬁﬁ?r@raﬁﬂ—pygeg,g



Sol.

106.

Sol.

107.

Afaa wu & 9 8?

[1] Bud C faudia feement & amm axa &
[2] Cuf¥e™ @1 SR AT BT &

[3] D SR &I AR ATAT FRAT 2

[4] Bud Cwae fe=m # I/ axd &
[5] srgafe wed

[4]

i>TBlDTC‘Tﬁ""' - { > od

<faror

WA e § Yee & U Iue w6t

aifem wdter < ey AfireRTer B Wl wUW Sivft

firctt & St U9 & g USEH wieSl & BEl &

w9l W qe ¥ T weeiA 8

Frafafaa & @ wm-ar g8 Fiide o0 g@a €

fr aRtomm wm= wgfa & w8 7

[1] T s & B U S e § T
Hicisl I gorT H e ©

[2] T & T YEHA hictsl & AR
T B ® YeAIHT B KR AR B €

[3] frseh Tt wdensti ® T & 3171 YSEA FHics
% S BT YIIH LA Hies & B ° I8
wWe

[4] T YeEE S 3 B | o9 g fafha
HHE T Dl BA FAT

[5] egafa 7o

[3]

faswew (3) i@ wxa ® fF ofomm g wafe +

IFgET e R

qHIA : e WA § o H Th WE ¥ W

M F A FH B o a2

Sol.

106.

Sol.

107.

[3] D travels towards North
[4] B and C travel in the same direction

[5] Question not attempted
[4]

North
A, T
B D |C West * l 2 East

South

Majority of the students who appeared in the
final examination of post graduate course in
management in the local college have secured
first class which is comparatively higher than
the performance of students of other
management colleges in the state.

Which of the following may indicate that the
results are not in line with the general trend?

[1] The students of the local college are
qualitatively better than those of other colleges

[2] The authorities of the other management
colleges in the state are stricter in their
standard of evaluation for their students.

[3] The students of other management
colleges in the state performed better than
the students of the local college in all the
previous examinations.

[4] The local management college recently
retrenched many of its regular faculty
members.

[5] Question not attempted
3]

Option (3) indicates that the result does not
conform to the general trend.

Statement In deserts, camels are
indispensable for people to travel from one
place to another.

Conclusions :

I. Camels are the only cheapest mode of
transport available in deserts.

II. There are plenty of camels in deserts.
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[ rem o 2 960 & o THAS 999 &

Select the correct code -

e B [1] If conclusion I follows;
II. e § e 98 9 ° 2 [2] If conclusion II follows;
WE RIS T T HifT- If both I and II follow; and

[1] 9% frehd [ srgERor s 21

[2] 9% frehd 11 STgERor e 2l

[3] af% < e o ERw @ ®; qen

[4] 7 @ froh [ e 9 € fased 11 ergerm

Sol.

]
|
3]
[4] Neither I nor II follows.
]

[5] Question not attempted

[4] Camels are used to walking in the desert.
Therefore, in the desert it is necessary for people
to travel from one place to another. The use of

3 the word 'only' in conclusion I makes it
inconsistent.
[5] #AITRA & 108. Below is given a statement followed by three
Sol. [4] %2 M # woH & A= e ¢ 37 e courses of action numbered [1], [2] and [3]. A
R N course of action is a step or administrative
| T T e {H’? W‘ w qﬁj w1 % fo decision to be taken for improvement, follow
m B 21 e 1 o R b e 5 - up or further action in regard to the problem,
ST = 3 2 policy etc. On the basis of the information
> - given in the statement, you have to assume
108. =t @ e 3 . e (@, everything in the statement to be true, then
2w () W& decide which of the suggested courses of
AT $ AT 3T SUTA 19T TR e action logically follow(s) for pursuing.
¥ T W mwemn, sifa onfe & wed ¥ wEw, Statement : It is found that due to the
ST, AT T H T ATl FAE ¥ wetw negligence of the hostel caretaler and
, A attendants, there is a huge shortage of drinking
3:;" 3 Eﬁa-l;';:.ﬁf _;:If ® ;T%‘_i water in the hostel.
TEETT BT ST A o Courses of action :
A. The authority should immediately make
T ?:ra'trré:n T S R ST 1 @ "ch'ﬁ arrangement for drinking water in the
Al T S il AWART % HR0 SEEE H 9= hostel.
% A FT A FH O B. The authority should take proper action
wrIarEar against hostel caretaker and attendants.
A, @R B G @ oI § W B T C. The authority should dismiss the hostel
’ N caretaker and attendants.
PP . 8w T [1] A and Conly [2] B and C only
B. 1wifE BHEAEE bl HiA
¥ @ R & o S lQ_OI [3] A and B only [4] C only
C s F e A a0 | [5] Question not attempted
’ Sol.[3]
[1] #oa ASRC  [2] ®aa B3RC _
Clearly courses of action A and B should be
[3] ®oa ASRB  [4] ®ea C followed.
[5] sraRa e 109. Consider the following-
Sol.[3] A. InPreference shares, the shareholders have

the right to vote in the annual general
meeting of that company.

T HEaEal (A) T (B) ST B
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109. FfafEa wot W faum -

Sol.

110.

Sol.

111.

A.

AREE TR U YRERYNRT ki SH HUA i
oiftfer 3TH 93 W oie 29 &1 ATUFHR Bl 2

Y SR % HHG H 3l ANl i
qreifiymdr <t ST 2

SUE W ¥ WE RO/ /R I AT -

[1]
[3]
[5]
[4]

Had A
A 3R B Al

FIANG I

[2] ®aa B
[4] 9 A 3R 7 & B

AR TR 1 A 3 & afvmR @ fan 110-

T e § weufhea & S

sfoae] RN I AT W= R H RIS
qrefirar fau fomn e 39 @1 sAfusmr 2

fafaer & way o FAfafea waEt W fa=mr
=

A.

7E TH U uRR © o we & faman &
T TR & ®T H TESHh &F & STA H
51% 9 &9 T Twed =t fawl wita 81

fofee @ =) fiedt aifosg @ik a1l
IR AT ST Se IR Taies SR
Taea faam (Sdemgensgd) & g

Sue W ¥ WET HYT/RAA BT TAT -

[1]
[3]
[5]
[1]

Had A
A 3R B Al

STARd g9

[2] ®et B
[4] 9 A 3R 7€ B

9 2023-24 % q&d 51,000 FIg & fafters
e & et fam Homem & agd few @i
et Fafd geiem faamn (DIPAM) &t g

14 318 2016 @ fafeer faum s 7 axerE
R iR Gt gufd yeer fasmn (DIPAM)
w2

FrAfafaa waa w fa=m =

A.

T TaTE RIS A foshe el a3t
TN S Rl hEA Scds SR STufiTe i
O S

Sol.

Sol.

111.

B.

In the case of profit sharing, Equity
shareholders are given priority.

Select the correct statement/s-

[1] A only
[3] Both A and B

[2] B only
[4] Neither A nor B

[5] Question Not Attempted

[4]

Preference shareholders are given priority
in profit sharing with no right to vote.

Equity shareholders have the right to vote
with no preference in profit sharing.

Consider the following statements regarding
Disinvestment-

A.

It is a process that involves the sale of
government stakes below 51 % in public sector
enterprises as a tool of deficit financing.

The disinvestment target will be the
responsibility of the Department for Promotion
of Industry and Internal Trade (DPIIT) under
the Ministry of Commerce and Internal Trade.

Select the correct statement/s-

[1] A only
[3] Both A and B

[2] B only
[4] Neither A nor B

[5] Question Not Attempted

[1]

The disinvestment target of 51,000 crore
under budget 2023-24 will be the
responsibility of the Department of
Investment and Public Asset Management
(DIPAM) under the Ministry of Finance.

The Department of Disinvestment has
been renamed the Department of
Investment and Public Asset Management
(DIPAM) from 14th April 2016.

Consider the following-

A. The Planetary Pressure Adjusted Human

Development Index calculates the total
Carbon Emission and Waste generated by
humans.

In the Gender Development Index (GDI)
2021, women’s HDI score was 0.668, men’s
score was 0.567.

In the Inequality Adjusted Human
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Sol.

112.

Sol.
113.

Ao

B. ©ifitr fawm g=wiw (Si<iemE), 2021 o
Tfgenstl &1 TASISME TR 0.668 I, TEH
R 0.567 ol

C. STHAMA A AHe foaswm g, 2021
¥, IRd 7 U ¥ g9 H AHa fae™ gEdie
wHR &1 Afhad gt 25% @ fEm

SUde W ¥ WEl HYT N I B -

[1] A 3R B [2] A 3R C

[3] B 3R C [4] A, B 3R C
[5] eTgaRa =

[2]

2021 ¥,

o SETeTE W 9RA 1 @R (FHe fHam)= 0.849
« SfiEteng (Afeen)= 0.567

o SEteTE (TE9)= 0.668

T 3 @i (fawm 3 fafmws) dotem

srfafam, 2023 & Hag ¥ fFAfaRad el uw

femm a-

A. 39 AfuFm =1 gem fovvaet o waE o
feom iR weeqel @il & fag erawm
AEHY H YEAA SeaeHd 2l

B. faform-geh, dia-geh, Wemn SR SE-g®
@it wfed 29 @fei & fow srawo asdd
(Sue) 5 ouf & foru sy foman smom

C. mewl Wi 3 BN ¥ S T e sk
e foaem & fau smawes B

SUE H ¥ TE R H T H-
[1] A 3R B [2] B 3R C
[3] A &R C [4] A, B 3R C
[5] srafe WA

[4]
frafafaa @ @ SF-91 92w U=E = @i

. TIfefoTE ®T Hen @ A
Sude § § WET IS W oI B
[1] A 3R D [2] ®=a C

Sol.

112.

Sol.
113.

Development Index 2021, India lost a
maximum i.e. 25% of the Human
Development Index score in the same year.

Select the correct statements-

[1] Aand B [2] Aand C

[3] Band C [4] A,Band C

[5] Question Not Attempted

[2]

In 2021,

e India’s score in GDI (overall)= 0.849
e GDI (Women)= 0.567

e GDI (Men)= 0.668

Consider the following statements regarding
the Mines and Minerals (Development and
Regulation) Amendment Act, 2023-

A. Key Features of this act is the Introduction
of exploration licences for deep-seated and
critical minerals.

B. Exploration Licence (EL) for s 29 minerals,
including lithium-bearing, copper-
bearing, potash, and zinc-bearing minerals
will be issued for 5 years.

C. Critical minerals are those minerals that
are essential for National Security and
Economic Development.

Select the correct statements-

[1] A and B [2] Band C

[3] Aand C [4] A,Band C

[5] Question Not Attempted

[4]

Which of the following are not the factors

included in the calculation of National
Income-

A. Sale and Purchase of Second-Hand Goods
B. Value of Intermediate goods

C. Transfer Payments

D. Value of Service of Housewives

Select the correct code-

[1] Aand D [2] Conly

[3] A,Band D [4] All of the above

[5] Question not attempted

Sol. [4]

* Inthe calculation of National Income, only
the monetary value of final goods and
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Sol.

114.

Sol.

115.

Sol.

[3] A, B 3R D
[5] ergafa we
[4]

o U S I TOAT W Al HAfaH aeqel iR
Taretl 1 Hifse goa wfhe fohan S © safa
U U Gt R SR @ S

[ W IMWIH & Hayw W FreAfaiea o

fa=me =RY-

A. 0 & Huifyd®s 01 H1 Th ®9 2

B. ¥ 9 W ? f5@ W Iwsiens anfvieas Sl @
U1 il 2

C. HHH AR W Y6 < HH B § Wi H A ST 2

[4] STF |t

e H W WEl RYA/RGA RN TAT HL-
[1] SR Gt [2] B 3R C

[3] o A [4] A 3R C

[5] eTgafa

[3]

e Y& g W ¢ Fm W afufes §% e
giaqfaal 1 Huifies & 9 H W@ SRS
¥ YR o4 B

o W RWEHH eF § ISR H | 9g W © it
S SAEEITR 0T 34 THA ST S T FH
F GHRA B

T-hAE a7 & Heag § FAfafga sa uw

fomm = -

A. T Hied §, -Hmg WS Bl 3R okl &
e T gaumekdl & &9 § e w8, S
U™ Hied H, W2 fasd o= widl 2

B. 9Rd H, ToieRiey 3R e Hag ag =i

&7 R
e H W WEl RYA/ /RGN RN TAT HL-
[1] o A [2] o B
[3] A 3R B g [4] Fd@ A @R 7 & B
[5] eTaf g
[2]

o  gNR-NURG Afed: T Oied & d8d, Th
T-mmd TR WRR SR feshaieti o TH
% gfaen s & ®9 F FE w2

o TH-NUIRG Hige: 3H HiSd & d8d, $-hiAd
THE & U GOSN Sl WY S=T SH 9t
aEgetl SR garet w1 Tw ge e 2l

o TE 2023 o, el 3R Hifean 34 wiav
IR st & WY 0l E-hiad WS ol

114.

Sol.

115.

Sol.

116.

services are included hence all the given
factors are excluded.

Consider the following regarding the Repo
market operation-

A. Repo rate is a form of collateralized
lending.

B. Itis the rate at which RBI takes loans from
commercial banks

C. A lower repo rate leads to a demand
decrease in general.

Select the correct statement/s-

[1] All of the above [2] Band C
[3] A only [4] A and C
[5] Question not attempted

[3]

e It is the rate at which commercial banks
borrow from RBI by keeping government
securities as collateral.

* A lower repo rate increases the demand in
the market as the bank can decrease its
interest rate while giving loans to businesses.

Consider the following statements regarding

the e-commerce sector-

A. In the Inventory model, the e-commerce
site acts as a facilitator between the Buyer
and Seller, whereas in a Marketplace
model, the site becomes the seller.

B. InIndia, Electronics & Media is the largest
trading segment.

Select the correct statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither 1 nor 2

[5] Question not attempted

[2]

e Market-Based Model: Under this model,

an e-commerce entity acts as a facilitator

of goods and services by providing an
information technology platform to the
buyers and sellers

* Inventory-Based Model: Under this
model, the e-commerce entity owns an
inventory of goods and services to be sold
to the buyers directly

* Asof May 2023, Electronics and media was
the leading e-commerce segment with a
market share of 34 percent.

Consider the following statements regarding

the Mission for Integrated Development of

Horticulture (MIDH)-

A. Tt is a centrally sponsored scheme with a

hey
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116. Uehigha amTart faerra fas= (MIDH) ) & Haier

¥ ffafaa sl o fa=m w=-

A. T8 TF &5 gEifea A 2 foed g ok i &
S A 60:40 (FHA T) 2 90:10 (TRrEt
T ) fod a1

B. U @M € (TAT=et) 39 faem & 9+t
T SR hgenfad g9 | o]

SUde W ¥ WEl HYT T T B

[1] = A [2] e B

[3] A 3R B < [4] 7 A dRTE B
[5] eTgaRa =

. [3]

o T wHUT wE B

o (THESITA) AMET & THIFA o & fag
e (THeTEEita) T ®% wEfa Fe 2
AYEH, FH, Hel, G 9, T,
el R afe wfe 2

. “SITeT HUTIUT o T 3i7 THM: HYTh A1eT FHUTIuT

A 2023 & Hay W Frafafea ot w

femm a-

A. T8 T 2w, fava @rea gt (WHO) 3R
fovel S TE N W ®9 W YRV i TS o

B. WRd H 2022 § SMU9 ®1 <X 31.7 Hiawa eft
(2012 ¥ 41.6 Wfaerd & &H)|

Suded W ¥ WET HAT/HRYA BT ST B
[1] = A [2] e B

[3] A 3R B < [4] 77 A RFE B
[5] sTgaRa =

Sol. [3]

+ 3o Ul & oER, fava w@rea g &1 2025
T df¥aes 9 gt w1 @ SR THESt 2.2
1 8 2030 T Wit =1 e BIAT ST Felid
Bl @I R

o 2020 ¥, 18.7 Yfawd 9RAT S=9 @S UUH
Tl & Fad A IR-9R BH et S &
HRO AT § g 91

o dRTH W W UE Gl § HH IY H 37
fuferm o= (5.6 ufawd) sifuss s o ©
(3T S & fee ¥ S o9 ) |

o ORd ¥ 2022 H sifyw o w1 wfewa 2.8
gfaer (2012 & 2.2 wfaem) em

118. afEeHT ‘SHfa’ ffafaa § 8 feaw defia

-

Sol.

117.

Sol.

118.

60:40 (General States) and 90:10 (Hills
States) funding ratio between the Centre
and States respectively.

B. The National Horticulture Board (NHB) will
implement this mission in all states and UTs.

Select the correct statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

B3]

¢ Both statements are correct.

* Mission for Integrated Development of
Horticulture (MIDH) is a Centrally
Sponsored Scheme.

e It covers fruits, vegetables, root & tuber
crops, mushrooms, spices, flowers, aromatic
plants, coconut, cashew, cocoa, and bamboo.

Consider the following statements regarding

‘Levels and Trends in Child Malnutrition:

Joint Child Malnutrition Estimates 2023’-

A. The report was jointly published by
UNICEEF, the World Health Organisation
(WHO), and the World Bank Group.

B. India had a stunting rate of 31.7 percent in
2022 (down from 41.6 percent in 2012).

Select the correct statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

[3]

* Itreveals insufficient progress in reaching
the 2025 World Health Assembly (WHA)
global nutrition targets and 2030
Sustainable Development Goal (SDG) 2.2
(end all forms of malnutrition) targets.

e In 2020, 18.7 percent of Indian children
were affected by wasting, caused by poor
nutrient intake and/or recurrent illnesses.

e 37 million children (5.6 percent) under five
are overweight (too heavy for his/her
height) globally.

e India had an overweight percentage of 2.8
percent in 2022 (2.2 percent in 2012).

Project “'UNNATTY is related to which of the

following-

[1] Upgrading the skill base of MGNREGA
workers.

[2] Improving digital density in rural areas

[3] Reducing dependence on Rain for
irrigation

[4] Improving Ease of Doing Business
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Sol.

119.

Sol.

120.

[1] F Affenl & hiviel SUR i S=7d HEA

[2] v &= o fefSea w@@ o guR

[3] fa=rE & fow ot = fAefar &9 &

[4] SR T HT TEE H GER

[5] sTgaf e

[1]

TR & fau wer gr fee o ErferE gam-

o 3TSa foeer wftfd 7R & qed uro e
T A § SAEvTE GRS AR 3T
Rl 1 fawmTier s

o fESA ‘ST 1 SETE WA AfHen! @ v
YR 1 3= HE 2

o SHeTSTE-SnHRa Al (BN Tee) : drifersh
I JOTEt (SHSTETE) S ST i RS
faerra fagial & SR W UMW Y=mdal st THT
RISE

AREMREET & WA & o U 3FWH had W

femm =

[1] Freft ot wiifceiaes o 1 Mg 1 FEH
o S9E fRan S 2

[2] og ® R @R Ffea & Tar o &% e

[3] ‘ShIRIEINM®T’ S ‘GHmmeT’ o 9o

[4] 9ME YRR & o7idfw ST it of g S

[5] sgaRa WA

[1]

IETARE T SULNT:

20 KHz ¢ 3ifyer &l ogfa &l sTeg™ite =

HCIEST HEl WAl 8 o7 eSS =4 3T

T Bl

ot oft yriiferefes o5 1 @11y 1 STAM o o

HeA ST F SYEN fRa S 21 e fawew A

Terd 2

YT =il W SR SR e g @ % e

HEIEIST 1 STAN THa1 S Thal B (3T B

?‘qmwa@@ﬁmqﬁm)m:ﬁmBuﬁ
|

IR T i ged & fafy= fewai 9 wfafsfoa

F® 3R 2T ! B 9F H AU SR S 2

T TEAE F SHIRISATHT Fe1 S ¢ o

forred C ot W& B

fohet § a7 arelt Sl Tad S TR A A argd

% U erceEse #1 SR fha s " g1 3

TH A W UveE @ | feee S g

e &t fa & gow Frem @ e Sew A

Heteh ISTEA -

Sol.

119.

Sol.

120.

[5] Question not attempted

[1]

Recent reforms undertaken by the

government for MGNREGA-

* Amarjeet Sinha Committee to recommend
structural and other reforms required in the
rural job guarantee scheme under
MGNREGA.

* Project 'UNNATI intends to upgrade the
skill base of MGNREGA workers.

e GIS-based planning (Yuktdhara Portal):
Holistic planning of Gram Panchayats
based on watershed development
principles wusing the Geographical
Information System (GIS).

Consider the false statement about

application of Ultrasound.

[1] Used in estimating the age of any
prehistoric object.

[2] To detect cracks and flaws in metal blocks.

[3] Usedin 'Echocardiography'and 'Sonography'

[4] Getting image of internal organs of the
human body.

[5] Question not attempted

[1]

Application of Ultrasound :

Frequencies higher than 20 KHz are called ul-

trasonic or ultrasound. So ultrasound are high

frequencies waves.

Carbon dating is used in estimating the age of

any prehistoric object. So option a is incorrect

Ultrasound can be used to detect cracks and

flaws in metal blocks. (e.g. ultrasonic testing

of metal) So option b is correct.

Ultrasonic waves are made to reflect from vari-

ous parts of the heart and form the image of

the heart. This technique is called

'echocardiography' So option C is also correct.

Ultrasound may be employed to break small

stones formed in the kidneys into fine grains.

These grains later get flushed out with urine.

An accurate example of Newton’'s first law

of motion in daily life is-

[1] Pulling the hands backwards while the
player is catching the ball.

[2] When tree is shaken, falling of fruits .

[3] The movement of the swimmer pushing
the water behind.
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Sol.

121.

Sol.

122.

[1] faer<t g = shed 994 g1 i 1S S

[2] U=l =t feam W watl w1 iR

[3] Tk GRI UM W S Wehd €Y NI Sl

[4] oM Wag &1 o § feeel &l 8 Hag W
i ¥ a1fyer = e

[5] At wed

[2]

g T i ok wow e

g g feer sraen # a1 e W@ ® weheHE T

#I fearfd Wt ® W9 9% fm s feafa & awa

oo gRI Se & forg Aoy @l fepan wmar 2

T VR H, gt awqy oo A wT orewen H

IRed 1 fokiy et 2l

Tfa & gorg fem &t STec i fem! o Fet ST
?

S o forshed B o, U SR wel feeR srawen H 9,
U & fealeht 9@ @R T o, safer well
e forg S ® iR 9 iR 9 €

HI (A) : Teh 2 wfer @t Agml At qorm |
TSl W IVTEH A 98 31fres Hemg des ugerdt
21

HRUT (R) : SioTE o WY Teedd 0T & 0 o
A gt

[1]A & REA @& 2 @o1 R, A &1 W&l =
FHT B

[2] Ad Rl w&t @ @feh R, A &1 W&l =amen
T e 2

[3] A WEt ®, T R Tiemal ¢

[4] A e €, St R 9& 2l

[5] sTafa 7T

[1]

TRl W TEETHYU & HRUT @1 Jeaii i Hag i

o | HH B 2, Fifh TEwmyol % HROT @l

H A A% B WY H B

THITY W 2 T B 3R it g | vereal

R feh oo 2

ama: famea A W& R

TARHE g9 § wrEr i g 8-

[1] BTegrs [2] ifer=m

[3] frata [4] &1

Sol.

121.

Sol.

122.

Sol.

[4] More injury to a player falling on a hard
surface than on a soft surface.
[5] Question not attempted

[2]

Newton's first law of Motion :

An object remains in a state of rest or of
uniform motion in a straight line unless acted
on by an unbalanced force.

In other words, all object resist a change in thier
state of motion.

The first law of motion is also called "law of
Inertia"

Asin option B, tree and fruits were at rest, force
was applied by shaking the tree, So fruits
equilibrium gets disturbed and they fall.

Assertion (A) : A tennis ball reaches a greater
height when bounced on a hill than on a ground.

Reason (R) The value of acceleration due to
gravity decreases with height.

[1] Both A and R are correct and R is the correct
explanation of A.

[2] Both A and R are correct but R is not the
correct explanation of A.

[3] A is correct but R is incorrect.
[4] A is incorrect, while R is correct.

[5] Question not attempted

[1]

Aceeleration due to gravity on the hill is smaller
than on the surface of earth, bacause the value of
acceleration due to gravity decrease with increase
in height.

So a tennis ball bounces higher on hills than in
plains.

So option A is correct.

Which gas is used in the fluorescent tube?

[1] Hydrogen [2] Helium
[3] Neon [4] Radon
[5] Question not attempted

[2]

Helium (inert gas)
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Sol.

123.

Sol.

124.

Sol.

125.

Sol.

[5] srgafa W

[2]

dferm (afera )

Freafafaa wol w faemr wifse wd /e &

wf-

[1] eait o1 Tcmehon /et i < T Sal Sl 2|

[2] =IEH o FoTHA Yt T 37U BE O A 2

[3] TEST e Jedt ac1 ¥ H91E sgd T FHH gl
ST 2

[4] gealt & =W 3R AT &1 Ta AHhs 9 ®
HR B B

[5] srgafa W

[2]

<A 1 FHAM Yol & T T 1/6 T 7| I

faemea (b) @ 2

frefafan § & @ g 9ET ¥ wES S@A

B ATl T et @t TEl g urr-

A. w9 B. TR

C. = D. =

[1] %o« B [2] ®a@ C

[3] % B, C [4] =9 | =g 7&f
[5] eTgaf@ wd

[4]

wHeArwyl, Fig, it w=a anfk =it waft &
e ¥ e S
Frefafea w faer wifsa:

A. TR fGEM : 44+XXY = 47 TGS

B. FETheel fagM : 44+X0 =45 TOEH

C. Ve fHg : 44+XYY = 47 TR

Sudad ¥ W e ghfea &/2-
[1] A ¥R B [2] ®oa A
[3] %o B [4] ®aa C
[5] eTgaf@ wd

[4]

TR fHgm - 44+X0-45 TR

TH HAEHd A fS9d @ dfeen woa
T-FEEE & @Y I B e

123. Consider the following statements and

choose the incorrect one-

[1] Earth’s gravitational force decreases with
distance.

[2] The mass of the Moon is six times than the
Earth.

[3] The force of gravity decreases with increase
in height above the earth’s surface.

[4] The rotation of the moon around the earth
is due to centripetal force.

[5] Question not attempted

.21

The mass of the moon is 1/6 times that of the
earth. So option (b) is incorrect.

. Which of the following animals cannot hear

the infrasonic sound produced before an

earthquake?

A. Snake B. Peacock
C. Dog D. Rat

[1] B only [2] C only

1
[3] B, C only [4] None of these
[5] Question not attempted

. [4]

Rhinos, hippos, elephants, whales, octopuses,
Pigons, Squid, Cuttlefist, cod, Guirea fowl etc.

communicate via infrasonuc sounds.

. Consider the following :

A. Turner Syndrome : 44+XXY =47 chromosome.
B. Klienfelter Syndrome : 44+X0 = 45
chromosome

C. Jacob Syndrome : 44+XYY =47 chromosome
Which of the above is/are correctly matched .
[1] A and B [2] A only

[3] B only [4] C only

[5] Question not attempted

- [4]

Turner Syndrome - 44+X0-45 Chromosome

A chromosomal disease in which a female is
born with only X-chromosome.

Monosomy of 23" chromosome. So option A
is wrong.
Klienfelter
chrormosome

Syndrome- 44+XXY = 47

"Trisomy of 23" chromosome".

231 FHHEM T FAMEET o74; e A o 2

hA%T
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126.

Sol.

127.

Sol.

FeTheR fHgM- 44+XXY = 47 TR

23 R i o

T AR feafd ed & o9 -weEm
1 Tk SAfafie gfd & @y U e 21 o fasheu
B Terd 2

Seha g™ - 44+XYY-47 TR

T oAafe feufq fed & gew Y-ToRE # o 126.

T fafs 9fd & @y g7 2 =1 e faeen C
& Rl

Frafafaa ¥ @ Ween st o -
A. Tt B. waifen

C. 3™ D. &M

E. el 3WR F. smifeanfag

G. f=1 H. wfaq

[1] A, B, D,E F, H
3] A, B, EF G

[2] A,C,D,EF, G
[4] A, B,F, G H

[5] ergafed W
[3]
WSS -
s AT 3TN o HaRE
o TIRITET o TR
Trfataa & faem ®ifag ¢
faerfm wH W M e W
A. foafi=-D (i) el T
B. faerifi=-C (i) 9
C. fqifim-E (iii) Tepem iR sifamteif
D. faerfia-K (iv) heE fashr
e
A B C D A B C D

1] @) () (i) Gv) [2] @) @ @) (@)
[3] (i) (1) (v) (i) [4] (1) (i) (v) (i)
[5] e1gafa wA
[2]
faerfm T RHT | E AT T
1. fourfim A a. SRrifem=n

b. it

c. HUSAHATRT
2. fff@ D a. w=af ® Reed

Sol.

127.

Sol.

A Genetic condition in which a male is born
with an extra copy of the X-chrormosome. So
option B is wrong.

Jacob Syndrome - 44+XYY-47 chrormosome.
A Genetic condition in which a male is born with
an extra copy of the Y-chromosome. So option C
is Right.

Protozoan disease from the folowing are-

A. Pyrrhoea B. Malaria
C. Herpes D. Trachoma
E. Kala Azar F. Amoebiasis

G. Sleeping Sickness H. Pertussis
[11A,B,D,EEFH [2]A CD,EFG

]
[31 A BEFG [4] A,B,F,G H
[5] Question not attempted
[3]
Protozoan Disease-
» Kala Azar * Maleria
* Leuccorhoea * Pyrrhoea
* Amoebiasis * Sleeping Sickness
Match the following :
Vitamin Related Deficiency
Disease
A. Vitamin-D (i) Scurvy disease
B. Vitamin-C  (ii) Infertility
C. Vitamin-E (iii) Riekets & Osteomalacia
D. Vitamin - K (iv) Bleeding disorder
Code:
A B C D A B C D
(11 () @) (i) (v) [2]GiD)  3) @) (i)
B1Gi) @) Gv) G) [4] () (i) Gv) (i)
[5] Question not attempted
[2]
Vitamin Deficiency Disease
1. Vitamin A a. Xeropthalmia
b. Night blindness
c. Keratomalecia
2. Vitamin D a. Rickets in children
b. Osteomalacia in
adults.
3. Vitamon C Scurvy disease

o P

. Softening of bones

c. Bleeding of gums.
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128,

Sol.

129.

Sol.

130.

3. faaf= C

g
o

:
g
E

D A
[1] (v) (i) (i) (1)

B C D
[2] (iv) (i) (i) (i)

]

[B] (i) (i) (i) (v) [4] () (D) (i) (iv)

[5] srgafd e
[2]

IUUE BLc

1. Sferiem deerge - T
2. o9t SfaR® Aw - TR
3. wmEfieR SwE - T
4. BEA ITE - o

frfafga & ¥ Wag ¥ gar § AR & drelt
framze @t g W

A. T B. &R

C. Sl D. a0% 8

E. o1&

[1] %o A IR C  [2] ®aad A, DR E

]

[3] %a@ A, CiR D [4] SWire @it
[5] st g

[3]

g ¥ gaT § UR A arelt e -

e, SR, seh- 8

TER = Gag ¥ Hag

3 ==a1 § &l

Ed 9uR & ar # ffariad we W faer

w ST AT HAT TH-

[1] sj2& & ferq IEEE wie IEEE 802.15 21

4. Vitamin E a. Infertility
5. Vitamin K a. Bleeding disorder
128. Match the following.

Satellite Name
A. Navigation Satellite (i) PRATHAM
B. Scientific spacecraft  (ii) APPLE
C. Experimental satellite (iii) Astrosat
D. Student Satellite (iv) GAGAN
Code:

A B C D A B C D
[11(Gv) (i) (i) @) [2]Gv) (@) @) @)

Sol.

129.

Sol.

130.

1 (v
1 (@) (i) (i) (iv)
1

3 [4] () (i) (i) (i)
[5] Question not attempted
[2]

Satellite Name
1. Navigation Satellite - GAGAN
2. Scientific spacecraft - Astrosat
3. Experimental satellite- APPLE
4. Student Satellite - PRATHAM

Identify Surface to Air Missiles from the
following.

A. Trishul B. Prahar

C. Akash D. Barak 8

E. Astra

[1] A and C only
3] A, Cand D only
]

[
[5
[3]

Surface to Air missile:-

Trishul, Akash, Barak-8

[2] A, D and E only
[4] All of the above

Question not attempted

Prahar = Surface to Surface

Astra = Air to Air

Consider the following statement about
Bluetooth Communication and choose the
incorrect statement.

[1] IEEE standard for bluetooth is IEEE 802.15

[2] Bluetooth works by using Radio frequencies,
rather than the Infrared spectrum.

[3] Bluetooth works at 5 GHz frequency.

[4] The security level of the NFC is higher as
compared to bluetooth communication
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Sol.

131.

Sol.

132,

Sol.

133.

[2] ¥ TRRE TWaeH & o™ Aedl sgfa
ST H B

[3] =2 5 Ties g W %™ H 2

[4] =2 AR WA &1 gor § NFC a1y
gl 21

[5] sgafa W

[3]

=29 2.4 GHz 319 %™ Fdl 2

551t AR Ak @& dag o e suwsi

W faer & aur ghfea I @ e 8-
1. S - <1 UEHEFRS
2. 3irEa Tifd - <200 - 400 THedTg
3. de fagy - > 1 e
[1] #aa TF ™ FAfer 2l
[2] ®aet 1 T gafed
[3] et dF I gafer 21
[4] @+ =R g gufed 2
[5] A 7
[2]
5G Wder FrEifieht
factaa (e=t) - <1 faeiidese
A HET T T RIS
T A o
A. TER 3 ST 3R HeHR
B. Gaehifaan Tt snfewm
C. T=rEl e HA
D. Rfeel &t sTvaRTe dfierrg
[1] 5 A [2] ®a« B
[3] ®aa C [4] o D
[5] sTgafa T
[1]
O e e o 2

Frafafaa waAt w faem wifve ik & @

=T iUl

A. TSI fHeleg FiRia-2023 SR ¥ 13-14
o€ 2023 i A™IfSd foman T

B. W T2 A 99 2023 h! AL o 99
wq § =@ fwa 2

[1] o A [2] ®a« B
[3] A 3R B <Al [4] TA@ AT E B
[5] sTgaf S

Sol.

131.

Sol.

132.

Sol.

133.

Sol.

134.

protocols.
[5] Question not attempted
[3]
Bluetooh works at 2.4 GHz frequency.

Consider the following data with respect to
5G cellulor technology and matched pairs are:-

<1 Microsecond
2. Average speed - <200 -400 mbps
3. Band width - >1Gbps

[1] Only one pair is matched.

1. Latency -

[2] Only two pairs are matched.
[3] Only three pairs are matched.
[4] All the four pairs are matched.
[5] Question not attempted

[2]

5G cellular technology

Latency - <1 Milisecond

Select the mismatched pair.
Ramsar Site Location

A. Tsomoriri Lake Jammu & Kashmir

B. Satkosia Gorge Odisha

C. Asthamudi Wetland Kerala

D. Karikili Bird TamilNadu
Sanctuary

[1] A only [2] B only

[3] C only [4] D only

[5] Question not attempted
1]
Tsomoriri Lake is in Ladakh.

Consider the following statements and
choose correct.

A. Rajasthan Millets conclave - 2023 was held
in Jodhpur on 13th - 14th March 2023.

B. UN has declared the year 2023 as the
International millet year.

[1] A only [2] B only
[3] Both A and B [4] Neither A nor B
[5] Question not attempted

[2]
Rajasthan Millets conclave - 2023 was held at

State institute of Agriculture & Mangement
(SIAM) Jaipur on 13th - 14th March 2023.

Consider the following statements-

A. Unipotent stem cells have the ability to
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Sol.

134.

Sol.

135.

Sol.

136.

Sol.

137.

[2]

Tere fhele wigeia - 2023 1 3TESH T Hi

T yeud e (fam) SR § 13- 14 99

2023 i femam T

Frafafaa el w faem wifsa-

A. FUEE BH ¥a § 9eft R HI wifeepen o
gitafda e i e el

B. IE whoel A%y oo (4 AU) ¥ Ww Bt 2

I FAT B-

[1] ®aa A [2] %o B
[3] A9 BTAl [4] T @ AT B
[5] sTFaf

[3]

VY 99 9 ST e @ W fafd= wer W
FifgrRs ¥ aKe HY Ed WAt #1 g =y
T el Tk 8 ThR &I HIehet ¥ giafdd gm
FH A WA © @R PR ©H 9 9+t TR
H1 IR § ulafda g1 # aEa W @l
FAMIee € A IR H qhd, Th afe, ooty 21
oS § WS fRA ST Eehdl el

g oo & fu RO @ - @

wfag &7

[1] SRR [2] a7
[3] fieraret [4] SRR
[5] sTgaf@ e

[3]

o foarg ¥ TRl #US W ol Id-3aar o
AeAHl w1 oo fman S 21 dfieerer w0
St ofeR o fau s 2

o HA SN F STRI AT F AW A GO qaH
# we fou @ famo famn 2

IR frer wwe ¥ weta fear T
[1] &% AT [2] wfa faAig w=
[3] feg e wiar [4] 1 3R 3 i

[5] sgafa e

[4]

el Aifecas TS Fishiae HeM, sHaqR g ‘i
TR e gEr'’ 9 7Y fqeds @i e fie
[l i gEta feRen T

e T dou AfFEW-2022 & Hag ® Trem/
SutEm }q fed Soo WA GiAfa T oIy
f@ sAm T=?
[1] RERena #om - [2] swfa g foe
[4] Terarft 9ReT

Sol.

135.

Sol.

136.

Sol.

137.

transform into all cell types.
B. Itis obtained from bone marrow only.
Incorrect statement is/are-
[1] A only [2] B only
[3] Both A and B [4] Neither A nor B

[5] Question not attempted

[3]

Stem cells are cells that have the ability to
change into different types of cells. Unipotent
stem cells have the ability to turn into only one
type of cell and Totipotent stem cells have the
ability to turn into any kind of cell. Unipotent
stem cells can be obtained from the liver, blood
vessels, spinal cord, bone marrow in the body.
Which place of Rajasthan is famous for Phad
painting?
[1] Jaipur
[3] Bhilwara
[5] Question not attempted

[3]

* InBhilwara, folk deities and legends are de-

picted on Khadi cloth. The Joshi family of
Bhilwara is famous for this.

[2] Ajmer
[4] Dungarpur

* Kalyan Joshi and his team have painted
Phad pictures in the Parliament House.

Who was honored with the Suryanagar
Shikhar Samman by the Art Literary and
Cultural Institute?

[1] Manish Kulshrestha

[2] Poet Vinod Padraj

[3] Hindu Singh Sodha

[4] Both 1 and 3

[5] Question not attempted

[4]

Manish Kulshrestha and Hindu Singh Sodha
were honored with the "Surya Nagar Shikhar

Samman" by the Art Literary and Cultural In-
stitute, Jodhpur.

Who was made the chairperson of the high
level committee constituted for rules/bye-laws
in relation to the Right to Health Act-2022?

[1] Parsadilal Meena [2] Mrs. Shubhra Singh
[3] S.K.Sarin [4] Shivangi Sarda
[5] Question not attempted

Page 51



Sol.

138.

Sol.

139.

Sol.

140.

Sol.

141.

Sol.

142.

[5] eTgafa WA

[3]

. TWH. T H e ¢ e aAfufem-2022 %
Ty § e o ®© femsufem & fag wfea
I wWF Wl & sty 9 T R

TRy & fRm vaiarutfag ® waterer feaw
T YA UI3S Aate e ferar Tam?

[1] T fo' [2] g fae

[3] v@™ g At [4] gE W T

[5] srgafa ¥

[2]

TS & JARUITAg geatrst fog il qaferen fkaw
R WA URE AAlE UM fRar e

TR ¥ fra o W Avee fesret fetg
I (NDRF) &t STietae TTiUa st S ET 872

[1] TR [2] STIR
[3] g EARERIEE
[5] ergafa we

[4]

TE, Sifersh, Feaitorhe SN T e %

TR T fues & fou fodieme (Te@erer), § NDRF

1 werferE e s @ 2l

TRIfSET HeR 29 (PMI) @& G ® wi-ar

HAT AT &7

[1] =e fafmio nfafaf=i o a@ms 2

[2] 50 w1 37 gfg 3R 509 siferk ik AL 1
Tk 2l

[3] 38 T Tt ®H gR weRivTa fepen i @1

[4] o 2023 ® 9RA 1 PMI GshRIcish @l 21

[5] egafa oA

[2]

50 9 efirh 1 TR ofdeh foR iR %8 @hR

aTfefe Hee 1 Tt B

ieRT fea® U Al @l g 73 Terdrs, aiads

ifd, 2023 9% WY & foha" wfaera -9rT @
A & o1 e Taeifa famar mar 22

[1] 20% [2] 25%

[3] 30% [4] 35%

[5] sgafa W

[1]

T Serarg uRedd Hifd, 2023 § Tswem & 20%
-9 1 BRG HE H1 @ i R w2
fava 9o ARt | Meg Agd S arel gom

Sol.

138.

Sol.

139.

Sol.

140.

Sol.

141.

Sol.

[3]

Dr. SK Sarin has been made the chairperson of
the high-level committee constituted for the
rules/bye-laws being made in relation to the
Right to Health Act-2022.

Which environmentalist of Rajasthan was
awarded with National Pride Award on
Environment Day?

[1] Rajendra Singh [2] Prithviraj Singh
[3] Shyam Sundar Jyani [4] KhumaRam Bishnoi
[5] Question not attempted

[2]

Rajasthan's environmentalist Prithviraj Singh
was awarded with the National Pride Award
on Environment Day.

At which place in Rajasthan the National
Disaster Response Force (NDRF) has been set

up?

[1] Ajmer [2] Udaipur
[3] Jaipur [4] Chittorgarh
[5] Question not attempted

[4]

NDREF is being set up at Chittorgarh

(Ravatbhata), to deal with the threats of chemi-

cal, biological, radiological and nuclear disas-

ter.

Which statement is incorrect with respect to

Purchasing Manager Index (PMI)?

[1] It is a measure of manufacturing activities.

[2] A score below 50 is a measure of growth
and a score above 50 is a measure of
recession.

[3] It is published by a private firm.

[4] India's PMI has been positive in year 2023.

[5] Question not attempted

[2]

A score over 50 signifies economic expansion

and a lower score signifies economic contrac-

tion.

The New Climate Change Policy, launched

on Environment Day, has set a target of

greening what percent of the state's land area
by 2023?

[1] 20% [2] 25%
[3]30% [4] 35%
[5] Question not attempted
1]

In the New Climate Change Policy, 2023, a tar-
get has been set to make 20% of Rajasthan's
land area green.
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Sol.

143.

Sol.

144.

Sol.

145.

Sol.

146.

Sol.

147.

AT 8-

[1] & &= [2] wef R
[3] st.aTE wofa [4] =fa =St
[5] ergafe w=

[2]

e e 7 favea 9o et ¥ Mee wed i1, &
TH HH I G RAE 2

JuT (UEFA) = o -2023 st faars fera
Sirar?

[1] et Tt [2] TR g

[3] anffetn [4] feerga

[5] sgafa e

[1]

et fadt 3 quen Sftgg o @ e S

e wfgem gl THTET &a 2023 w1 faae
feraa <frar?

[1] 9a VARSIEIE
[3] smefern [4] st
[5] sTgaf@ e

[1]

qRa A R Afeen thmn %9 2023 w1 fedw
il

IETE WEAT WS | INHA FH el Aei-aq
T AT 7

[1] fr= [2] T 3WE STHN
[3] S [4] sT=%

[5] stgaftd W

[3]

TTETE TR TeH H INHel 8 arell A =as 98&
[ R

‘“Hige-A" Frefafaa § @ fre deifua 872
[1] Se areft #R

[2] &1 | =e arelt R

[3] O el wrE-a1

[4] Sfees SoF Tape  [5] orqala w94

1]

TAF (ALEF) TRHierd smfent &, f5aq g
& o Hige-u W Sed At ®R T ¥, T
SRR TeTE g WRReRYH Y feRan T R
TRYT =AY 3T MRET AT o gfead fememy
wfaera =t gfg wwarfaa 272

[1] T sR ® 15%

[2] Set & 5% AR ¥ 10%

[3] S H 10% SR SeE & 5%

[4] T a” H 10%

142.

Sol.

143.

Sol.

144.

Sol.

145.

Sol.

146.

Sol.

147.

The first Indian to win gold medal in World
Youth Archery is-

[1] Lakshya Sen [2] Partha Salunkhe

[3] B. Sai Praneeth ~ [4] Jyoti Yaraji

[5] Question not attempted

[2]

Partha Salunkhe won the gold medal in World
Youth Archery, the first Indian to do so.

Who won the UEFA Champions League -2023
title ?

[1] Manchester City [2] Manchester United
[3] Barcelona [4] Liverpool

[5] Question not attempted

[1]
Manchester City won the UEFA Champions
League title.

Who won the Junior Women's Hockey Asia
Cup 2023 title?
[1] India [2] Japan

[3] Australia [4] Germany
[5] Question not attempted

[1]

India won the Junior Women's Asia Cup 2023
title.

Which is the latest country to join the
Shanghai Cooperation Organisation?

[1] Egypt [2] United Arab Emirates
[3] Iran [4] Iraq

[5] Question not attempted

[3]

Iran is the latest member to join the Shanghai
Cooperation Organisation.

“Model-A” is related to which of the
following?

[1] Flying car

[2] Water powered car

[3] Solar power start-up

[4] Bio fuel rocket

[5] Question not attempted

[1]

(ALEF) Aeronautims American company,
which has recently made a flying car called
Model-A, which has been certified by the US
Administration.

How much percent increase is proposed every
year in the Rajasthan Minimum Income
Guarantee Scheme?

[1] 15 at one time

[2] 5% in January and 10% in July

[3] 10% in January and 5% in July

[4] 10% at one time
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Sol.

148.

Sol.

[5] sgafa W

[3]

o TSRRAM AGH 3T RS ANl & dgd &1 RO
o 15% wiierd gfig weaifed & wHad ¥ 10% 3R
e ¥ 5%

s TSEYM A9 @ TR AN 21 Jae 2023
F YE &I T, S 125 KA H1 ISR R 2000
TG I QTR GREm YIH P wE R

TETET Tl §Riege Mfh Tend WUE Hivd

WEAS I fHE T W wenfua ferar 1 @t 872

[1] SFEgT [2] Serge
[3] e [4] STaR
[5] eTgafa we

[1]

fag=res 2023 & HIEEH W IRI SR AE Hee
WEYS & a8 W AR H MGIGSS &1 T &t
S R

149. i WX ASHT & GId H Tod &9 R =@

Sol.

150.

Sol.

HifeTe-

[1] 385 q8d | 25 TR IS H=l 1 g T
% &9 H fawfad fean smom

[2] TSREAM TR § AR GHE % oE 5Hb T
TH.A.7, TENERG g T

[3] ST = TSR THR o Al BISISIH &
o= auedt ¥ fawfsa g

[4] @t e T R

[5] stgafd W

[3]

o THH TEU =F SRIAI HHE e HT|

o Hom = H 13 e § 8000 IS s A%
WH ®ITH T

T & W W 9 o {uiE, 2022 % SER

TG | &t @ Gen faa £7
[1] 110 [2] 92

[3] 88 [4] 80

[5] eTgafa WA

[3]
e oA R, 2022 % STER TSR H 88 |
Kl

Sol.

148.

Sol.

149.

Sol.

150.

Sol.

[5] Question not attempted

[3]

* Under the Rajasthan Minimum Income
Guarantee Scheme, 15% increase every year
is proposed in two phases, 10% in January
and 5% in July.

* Rajasthan Minimum Income Guarantee
Scheme was launched on July 21, 2023,
which provides for 125 days of employment
and social security pension of Rs.2000.

Atwhich place the Mahatma Gandhi Institute

of Governance and Social Sciences is being

establish at?

[1] Jaipur [2] Jodhpur

[3] Kota [4] Udaipur

[5] Question not attempted

[1]

Through the Mahatma Gandhi Institute of

Governance and Social Sciences Bill 2023,

MGIGSS is being established in Jaipur on the

lines of Tata Institute of Social Sciences.

Select the incorrect statement with reference

to Nand Ghar Yojana-

[1] Under this, 25 thousand Anganwadi centers
will be developed as Nand Ghar.

[2] MoU has been signed between the Rajasthan
government and Vedanta group for this.

[3] Its expenditure will be divided equally
between the Government of Rajasthan and
the Vedanta Foundation.

[4] All the statements are correct.

[5] Question not attempted

[3]

* Its entire expenditure will be borne by
Vedanta Group.

* In the first phase, 8000 Anganwadi centers
will restructured as Nand Ghar in 13 dis-
tricts.

According to the recently released Tiger

Census Report, 2022, what is the number of

tigers in Rajasthan?

[1] 110 [2] 92

[3] 88 [4] 80

[5] Question not attempted

[3]

According to the Tiger Census Report, 2022,

there are 88 tigers in Rajasthan.
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ANSWER KEY

RAS PRE.TEST SERIES

Complete Paper-1 {TEST CODE 902} DATE | 3 Sep. 2023

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

4 1 1 4 1 3 1 2 3 4 1 1 3 3
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
2 3 4 4 4 1 1 1 3 3 3 2 2 1 1
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
1 4 1 2 1 4 4 * 4 3 4 4 2 4 1
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
2 1 1 1 3 3 2 4 1 4 1 2 3 1 1

61 62 63 64 65 66 67 68 69 70 71 72 73 74 75

3 2 2 3 4 3 3 3 2 2 3 4 3 3 3

76 77 78 79 80 81 82 83 84 85 86 87 88 89 90

4 4 2 4 2 2 2 3 4 3 1 4 2 3 1
91 92 93 94 95 96 97 98 99 | 100 | 101 | 102 | 103 | 104 | 105
3 3 1 3 1 4 2 3 4 3 4 4 4 3 4
106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120
3 4 3 4 1 2 4 4 3 2 3 3 1 1 2
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135
1 2 2 4 4 3 2 2 3 3 2 1 2 3 3
136 | 137 | 138 | 139 | 140 | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150
4 3 2 4 2 1 2 1 1 3 1 3 1 3 3
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